:PMA

Cable Protection

IREBERREERS

Power and productivity
for a better world™ " .. ..

BRI -
R EFEHIRIRIMBIRRAE]
f o LiINtromix Co., Ltd.

http://www.lintronix.com.tw

iC[m] [ %7 /5 24257 7 3 [ P IE #% 651-6 5% 4 1
. E EFE:02-29081666 {HH :02-29081678
& [ &P Mm40854mHE[E R EEE —EX 500358
TEE:104-24712125 1HH :04-24712124

No.1709-55A



In £ PMA QBRI 19755 »
2/E8 (Nylon) EifRES SRR
MEIFSFEES - FTIRIHE
Goi#838 6,500%& - PMAR £ IK
RAENEEHELEMIIEES
ABBE TGk -

EEaRNRIERERRMEZ SR
- PMAEGRNGEHRIER
HNERIZE : LEBITREIMA
T REESTEIRBIE:
R ARZRERI, : (M=
BRBRER  URSBEEFRHE
W - PMAEGESIETERBEN
PZESESE °

PMASEBIS09001 R B R »
FIBEGREBERERNREEH
BTHEM - TB2EGIIDBBIGE
eI PA6TY PA12 RRIEAT - B
B - BE - BRNRFHEE
° PMARTIBH8E M TR 45
BER : SIRE3B3EBRRE
DRTHRIERS -

CERTIFICATE 5

e Ty s

2 GENE

CRERHSI
O mEBHIE

3 EAEH

4 BVETEEREM

5 BIRERY EEIREIRIRES / fesEE
6 ATEX/IECEx/TSPI/RERI!

| BREXREERS
7 ROBOTEREIRREE / ZERESHY!
8 BIRIRES OMRFIE &R
9 1/ EER {OLLPA
OCYL
10 PAA {OPCSL
Robot 53 {PIS/PIH
11 Bk {JFBD
SIS /1T/32ER {LLPF
ULFE OCUS
12 i/ eiEeEA OXESX
NS/ MEZR  OESD/ESDP
BRTFRSES OXPCL
13 SRREA OPHT
SR/ #ER OVoH
14 MBHSRIREE OPVD
BN EIRIREE OPPCOF
SmERERE OLPX
15 $EBMHE OEEER
O1P66. IP6SGT E LR
OT1P68 KR
{IP69K PMAFIX Pro
16 IP6OK BRI OMHF
IP69K 45 B3 OMSF
IPOKBEREE OMSF
17 1P69K H1EE OMSF
< MIL-C5015 5
IP6OK ZBE T OMEF
18 BFZEE OMSF
OPSHF
19 BB OPGH
20 90" EH#E08 OMHF
OPGH
OPSH

1

21 45" B %58
22 BEER
ROBER/1%5E
23 EBIRFIER
24 TEIRFIER

25 NF#ERE

26 RFEHE

27 JumboZ3E
28 BEEL

29 =@B#EE

90° fiEEE 38
B heEEs

30 B RESE

31 EASIREESE

32 HEfeH

33 HEfeH

34 EhRIBER

OMSF
OPGH
ONPTH

<>BVBD
<OBVOD
{OBVOV

oaPMS
OBRIMS

O45BBEMS
O EBMSF

OMSF

OPGH
<{>Sensor
OEBRIER

{AMP / CPC

OUTG-6/1TT
Cannon Trident

<{>UNEF MIL-C5015

{OBGG (V)/BGO (V)

<> FH-0

< GPS

<& GH

OY

OT
OBIFBRYH
QBB TH

OIBIEEETR

OB ER
ORESPILHITER
OMEMS
OERBETEVSG
OIREERITBIRKIR
OBIFERER

OB TNIRIE
OIREERIHIREE
OfmBIRE RiniER
OfpXRE
OBXER

{OWPS IP6OKEE
OfeBeigie
OEBIRIE



oo ARSI

b g

Reversed bending test with swinging
according to PMA spec.9.21-4425
& IEC EN 61386

(EREER OE R AIR)

Reversed bending test
according to PMA spec.9.21-4420

(R Eeh5EE Bl

Reversed bending test according
to PMA spec.9.21-4220

(BEEehsEE A5

é

Peak load test according to
PMA spec.9.21-4320 & IEC EN 61386

|

System pull-out strength
according to PMA
spec.9.21-4610 & IEC EN 61386

Impact test according to PMA
spec. 9.21-4330 & IEC EN 61386

Cold bending test according to
PMA spec.9.21-4380

(B REHh5R2BIE)

(I ExEE AIE) G hsEE aIET) (IEERIE)
I
oD .
. _[T,
(-] o |o
L F F S‘__ \
== ] ] LN

Thermal ageing test according
to PMA spec.9.21-4360

(SmELBIE)

Self-extinguishing according to PMA
spec.9.21-4430 & |IEC EN 61386

(HEERERIE)

electrosuisse

B &

@ IRISY

BOMBARDIER
Transportation

VY ¢ 4

LABORATOIRE
NATIONAL

/’Msms
SIEMENS

\NF

I rrenviTaLia

2

ALSTOM
L=\ o

A
UNDERGROUND!
\ 4

London Underground Limited

LOW VOLTAGE
DIRECTIVE

Z urtac

3\ T
ABS

Certification E N

1S0 9001

BUREAU VERITAS
Cartification




PMA

EREH

EEHW

Vg EERFEHEH
T

o T
\

AT EES HRia R R <L



METXEREL

B s=mES - SmMEEENERR
- {RFEE : XPCSF(HL3) » XPCS(HL2) ZEE - EHREfEAH
UV EE
- 5B : PMAFIX IP68GT
-2 4 : MAVI » MAVIK * SCA » SCAK * SWA -5

¥ =g
- {RZEE : VAM ~ VAML » EN45545-2 HL3 AN EEER
- ¥ 98 : PMAFIX IP68GT ¥ PMAFIX IP66
- ¥R - F.66 ~ C.66 ~ L.66 ~ F.PX ~ L.PX * G.PX » =Y
idk:
- B BIBENRIER  RRTEEMHEER

E] SRED - ErE
- {REEE : XPCSF EN45545-2 HL3PHNE#R ~ PHTM=R
- ¥ ©E: PMAFIX IP68GT 3§ PMAFIX Pro IP69K
- g 4 YERTRE=®#EEE

V] snnERe ek
- EWFAREE : VAM » VAML * POH ~ PLU
- BN AIRES : XPCS ~ XSOL * XVCS1H *» XVCS2H
VCS
- ©E: PMAFIX IP68GT 2 PMAFIX Pro IP69K T,
PMAFIX IP66
- B BIRNRIER - RIRZIREMHEER

IRISS @

PMA EREVSBIFRENE T 2424 (IRIS) 58358
EE il B RN ENE R NAZHE EN45545-2 |

* BB R IEER



PMA

ZIFRERI
LYO
RRSE31E HIR2HE298
EEE, wh's b
afvTJ s 8
EENEE  BEAMS - RESRE298 REBREERRRER

ZRRIRHRALR » ZEMA - &R
ECRFE ©
RIFCEZEREECH - EREE -

RS : -
EESTMARIEY » BEZEERR |

EE -

fE R R EE A\ BIRIREE
EITERRBR  IIRERFESHKR

o

IS o HIg2E288 HES2HE3NE
EERGEERES jird 8]

EmfiR EmREh
PMA ERERFEE N KT 304 AN Sl w15 1 360° [EEZFZEE ~ RETEIAGR ST
ZPBREEE - BETITIBEKERE BRI FE RIS ER
BRRTEMINTE - EMCER F SRS AR

F RIS IR



ATEX/IECEx/TS BHIRE R

ITI'

CE 1258 @ 112G Ex eb IIC Gb

I 2D Ex tb IlIC Db
SEV 15 ATEX 0121X, IECEX SEV 15.0009X

TEIEC 600791 HE CNS 3376 (TS) PHIBIRER

d J; IECEX ATEX EurAsian INMETRO

EIRIREE - 1208 ~ BER
EmREEE
FEHIIRIR R

\j@

R& éi@ﬁ%,’%r&ﬂ?ﬁﬂﬁ

Antimicrobial J1E i1

RTAFDA 21 CFR/EU 10/2011

ECOLAB#HIZR:E
*EHRRR R




PMH

E‘éff&ﬁ&é i SEINIE RS fE’l‘%’ié‘?
* PR BB

TEREERY

R H 4 PR
ZEam iR

X-Series

207Exr

* & ¥l : Polyamide 12
REEEE : -40°C~+95°C (+150°CAEMFRT)
B B:=EE FE i)
EEMRRERG ¢ 1. MR E (400 B EHEHRED
2. BEEEEETE : EREEEELIRIIEETINERR
ER%ZS : WmMFEEEELE 1

XPCLZR3I F* & #l : Polyamide 6
BEEIE : -50°C~+105°C (+160°CERFR))
B e:=BRER-ER-EB)
EmAEL ¢ 1. PKEESS ~ 20 FEAFR
2. AEBBNR, EREZZE
BRSE : T2V R

XVCS1HHR% * &R ¥ : Polyamide 6
BEEIE ¢ -50°C~+90°C (+120°CH2RFR)
B B:mE (R
EMRITE 1. JURNME - MHRIEE « 20FE A EFERER
2. AEEEVR, EREZ5E
ERIZE : BLESRGRT - PAIRIE

XSOLZR3 =+ & %l : Polyamide 12
SREEIE : -40°C ~+95°C (+150°CHaAERS)
B BB (ER-EH %
ERIEE 1. SEmmE
2. iUV ~ (BRESZEEIRIEER - 20 L CERFR
EREE : BORRI - RBEH - PARIE

7 BRI R



PMA

MR

FERFREEREA

. el mEEE AT | BOtE = 5
b - S N e BRER | Taiew | =] =
EHESE T F R () EEES RES A | =m T2 B &
, -40°C~+105°C _ N
Iq. LLPA | Polyamide 8 | ,4g0:cigmsng | =/ X v | vV AT
- vt | rorame 5 |0C= 105G T T T e
AN ==T olyamide +160°CHIR5RE | ™ R
%\
= CEA°C. 1 QR° bEDi=piss
g i /l PCSL | Polyamide 12 50 C +595 c = /W / ¢ V2 UV
y\,ﬁm\ oty +150°C 58058 .8
¥ - HER TR
Cyp PIS . -50°C~+95°C SRR WITFESR
=64 Polyamide 12 i 2/m| v | Vv \ =
Y PIH +150°C 5EFRS | () | DEXRO=EE
e . —20°C~+95C | . s FDA - ECOLAB
BRQREE | JFBD | Poyamide 12| “orocioen | B |V PRRDE e
o 2= . —40°C~+105°C (80°C:A T ZHm)
1 = [ VO
© TE-T LLPF | Polyamide 6 +160°CATHS RS 2/m| v v -
c c e prr———
. , -40°C~+85° frgitllUa)c
@E@mm| XESX | Poyamide 12| icong | & | V| Y =z ATEX/IECEX/TS B8
ESD/ , -40°C~+90°C e
WE= A = HB =\ iUV
® WEZE| £gpp Polyamide 12 +150°C HTES R v MEE M
= Polyamide | -50°C~+135°C B BEPSX&&=200°C
== |  PHT - = HB oy
ﬁ = Elastomer +180°C FEHF R v 4 SBTECE&=E260°C
N . -50°C~+105°C 5
sove =) —fEE | XPCL | Polyamide 6 1 = /0 V2 H B8 20
205 ) =BE olyamide 6 | - Cropens /| v v {EATFREE20F
,\ 0 0,
y VOH | Polyamide 6 | 40°C~+105C| m VO ENERE
G- yamide § | 740 = toeer | BIR | V|V SBRE
v m==| CUS Polyamide 6 —40°C~+105°C = /T V2 UL1660 & CSA
“ﬁ% * UL&baz y 1e0cimism | T % vV Y C22.2 Nr.227.2.1
MEE ~ SR
N o _R0°C — o, 3 VO -
M mitieas| PVD | PVDF 60°C~+150°C| %8S v Gy O PEL
- - Polypropylene | -20°C~+105°C V2 o
B _ 7N
RIBISURIEE | PPCOF| TisociERE | B v ERREELE
3 s -50°C~+120°C - 0 T |
IREBIREE | LPX | Poyestr | > il | B/ |V v A

”VOH” %5”

PMA EiR{RE

—MREBRE

EREEREBEMAELLR

PMA VOH RIIEIRIREE



iy 1)
WAL e

B/ EmAERREE

731816 amwmE | Nw | omi | pa | g0l 202 TEDERSEEE

LLPA-07A 07 1/4" 07 62| 10.0| 15 | 50

LLPA LLPA-10A 10 | 5/16" 09 96| 180| 20 | 50

CE A\us @ LLPA-12A 12 3/8" 11 120 | 1568 | 380 | 50

e | SEPATTTA 17 1/2" 16 162 | 212| 40 | 50

ﬁ LLPA-23A 23 | s@ 21 226 | 285| 45 | 50

LLPA-29A 29 1" 29 200 | 345| 55 | 50

LLPA-36A 36 | 1w 36 | 365| 425| 60 | 30

LLPA-48A 48 | 1'~2" | 48 | 475| 545| 70 | 30

LLPAG-17A | 17 1/2" 16 158 | 21.2| 40 | 50

LLPAG-23A | 23 3/4" 21 219 | 285| 45 | 50

LLPAG-29A | 29 1" 29 | 276| 845| 55 | 50

LLPAG-36A | 36 | 1w 36 | 360| 425| 60 | 30

LLPAG-48A | 48 | 1%'~2' | 48 | 47.0| 545| 70 | 30

LLPAG-56A | 56 - - 56.3 | 67.2| 120 | 30

LLPAG-70A | 70 | 21 - 68.0 | 80.0| 160 | 10

LLPAG-95A | 95 | 3% - 91.9 | 106.0 | 210 | 10

LLPAG-125A | 125 5! - | 1265|1465 | 450 | 6

CYLT-07B 07 1/4" 07 62| 10.0| 15 | 50

CYLT-10B 10 | 5/16" 09 96| 180| 20 | 50

CYLT-12B 12 | gm 11 120 | 158 | 30 | 50

CYLT-17B 17 1/2" 16 162 | 212| 40 | 50

CYLT-23B 23 | g4 21 226 | 285| 45 | 50

CYLT-298B 29 1" 29 290 | 345| 55 | 50

CYLT-368B 36 | 1w 36 | 365| 425| 60 | 30

CYLT-48B 48 | 1'~2" | 48 | 475| 545 | 70 | 30

CYLG-23B 23 | 3@ 21 219 | 285| 45 | 50

CYLG-29B 29 1! 29 276 | 845| 55 | 50

CYLG-36B 36 | 1w 36 | 36.0| 425| 60 | 30

CYLG-48B 48 | 1v'~2" | 48 | 470| 545| 70 | 30

CYLG-56B 56 - - 56.3 | 67.2 | 120 | 30

CYLG-70B 70 | 2w - 68.0 | 80.0| 160 | 10

I‘h - CYLG-95B 95 | 3w - 91.9 | 106.0 | 210 | 10

B CYLG-125B | 125 5] - | 1265|1465 | 450 | 6




PMA

e

A i
-t t
I
3= (E—— T ANEIE G AEiE
d1
d2
== SEE
PNBEFFRES
- _ . ¢ di P d2 EHIFER|BEEEN
oA | ) 5 E g 5 \ e,
R = HE 5] BB ARIS NW [T PG mm)  (mm) @Emm | 6
PCSL PCSLT-07B | 07 1/4" 07 62| 100| 15 | 50
CG CIK | pcsiT-10B | 10 | s5A6 09 96| 130| 20 | 50
PCSLT-12B | 12 3/8" 11 119 | 158 | 25 | 50
; PCSLT-17B | 17 1/2" 16 | 16.4 | 21.1 30 | 50
PCSLG-17B | 17 1/2" 16 | 152 | 21.1 30 | 50
PCSLG-23B | 23 3/4" 21 217 | 284 | 40 | 50
PCSLG-29B | 29 1 29 | 274 | 343| 50 | 50
PCSLG-36B | 36 114" 36 | 358 | 423| 60 | 30
PCSLG-48B | 48 | 114'—2" 48 | 467 | B42| 70 | 30
== SEE
ROBOTEHEFRFRES
] : i b g2 BERLER|EEED
7 | ] F3 E 2 3 \ A N2
75127 ammis | Nw | ommo | oea | 200 OO
PIS/PIH PIST-07B 07 1/4" 07 62 | 100]| 15 | 50
. PIST-10B 10 | 5/16" 09 96| 130| 20 | 50
(H us
PIST-12B 12 3/g" 11 119 | 158 | 25 | 50
PIST-17B 17 1/2" 16 | 16.4 | 21.1 30 | 50
PIST-23B 23 3/4" 21 o6 | 284 | 35 | 50
PIST-20B 29 1 29 | 290 | 343| 45 | 50
PIST-368B 36 114" 36 | 365 | 425| 60 | 30
PIST-48B 48 | 11412 48 | 475 | B45| 70 | 30
PISG-17B 17 1/2" 16 | 152 | 21.1 30 | 50
PISG-23B 23 3/4" 21 217 | 284 | 40 | 50
PISG-29B 29 L 29 | 279 | 347 | 50 | 50
PISG-36B 36 114" 36 | 358 | 423| 60 | 30
PISG-48B 48 | e~ 48 | 467 | B42| 70 | 30
PIHG-56B 56 . - 563 | 672 | 110 | 30
'S - PIHG-70B 70 A - 672 | 796 | 150 | 30
4 PIHG-95B 95 31" - 913 | 106.0 | 170 | 30
[ ]
PIHG-125B | 125 5" - |1265 | 1465 | 350 | 20

10



A <A ERRE

S

W)
LA

, S i $dl  ¢d2 BEEER ARE
RIIBH SIS | NW | ORI | PG| L mm) @Emm| o)
. | JFBDT12c01| 12 | 3@ 11 11.8 | 16.0 70 50
JFBD (€ R\
JFBDG-17CO1| 17 | 1/2" 16 156 | 216 85 50
JFBDG-23CO1| 23 | 34 21 217 | 288 | 110 50
JFBDG-29C01| 29 1 29 274 | 347 | 140 50
JFBDG-36CO1| 36 | 1% 36 3.8 | 427 | 200 30
JFBDG-48CO1| 48 | 1%'~2' | 48 467 | 546 | 230 30
EBIE/IT/BERBREEE
5 STpso s ¢ di ¢d2 |[EEMER|BDEEN
%5127 mmwE | Nw | omw | oea | 29 0d8 SR ERERS
LLPF LLPF-07A | 07 | 14" 07 62 | 10.0 15 | 50
LLPF-10A [ 10 | 516 09 96 | 130 20 | 50
C€ Ommm ﬁ LLPFL-10A | 10 | 5/16" 09 99 | 130 20 50
LLPF-12A [ 12 | g 11 120 | 15.8 30 | 50
LLPF-17A [ 17 | 12 16 162 | 21.2 40 | 50
LLPF-23A [ 23 | g@' 21 226 | 285 45 | 50
LLPF-20A [ 29 1" 29 200 | 345 55 | 50
LLPFG-17A [ 17 | 1p 16 1568 | 21.2 40 | 50
LLPFG23A | 23 | g&' 21 219 | 285 45 | 50
LLPFG-29A | 29 i 29 276 | 345 55 | 50
ﬁ @ LLPFG-36A | 36 1va 36 36.0 425 60 30
: LLPFG-48A | 48 | 1w—2'| 48 47.0 | 545 70 | 30
SR S = SEES
ULGu:2 Ea.ﬁf%nz =)
,_\ . o pdl  pd2 EENER LR
751218 mmws | Nw | omw | oea | 290 0d8 S ERERS
CUSG-17B | 17 | /2" 16 152 | 21.2 40 | 31100
CUSG-23B | 23 | 34" 21 219 | 285 45 | 31100
CUSG-29B | 29 ir 29 27.6 | 345 55 |31/100
CUSG-36B | 36 | 1w 36 360 | 425 60 | 31100
CUSG-48B | 48 | 1w'~2'| 48 47.0 | 545 70 | 31100

11




PMA

P
o
e ——— 1
=cf —t= T BUERE G BUErE
a1
L d2
I
Bh)%/ B E DB A ERRE
. - e pdl  ¢d2 BERHER| K
75 AL \ Lo
R 2 ETEERES | NwW | =Y PG mm)  (mm) @Emm| R
XESX0250 10 | 5/16" 09 92 | 1238 25 50
XESX0350 12 3/8" 11 11.8 | 156 30 50
XESX0450 17 1/2" 16 152 | 21.0 35 50
XESX0550 | 23 3/4" 21 220 | 285 40 50
XESX0650 | 29 1" 29 275 | 344 50 50
XESX0730 | 36 8z 36 358 | 424 60 30
XESX0830 | 48 | 114'~2" 48 46.8 | 54.4 70 30
)
HE$E (ESD) /#REEZE (ESDP) BRI ERREE
. - . ¢ di pd2 BNER BREM
25| A Bl v e, "
RY| 28 EIEESRIS | NwW | =0T PG mm)  (mm)  E@Emm | R
ESDT-07B 07 1/4" 07 6.2 10.0 15 50
ESD/ESDP ESDT-10B_| 10 | 5/16' 09 96 | 13.0 20 50
- ESDPT-10B | 10 | 5/1¢" 09 9.6 13.0 20 50
ESDT-12B 12 3/8" 11 12.0 15.8 30 50
ESDPT-12B | 12 3/8" 11 12.0 15.8 30 50
ESDT-17B 17 1/2" 16 16.4 211 40 50
ESDT-23B 23 3/4" 21 22.6 28.4 45 50
ESDT-29B 29 1" 29 29.0 34.3 55 50
ESDPT-29B | 29 7" 29 29.0 34.3 55 50
ESDT-36B 36 14" 36 36.5 425 60 30
ESDT-48B 48 | 1'~2'| 48 475 54.5 70 30
ESDPT-48B | 48 | 11.'~2"| 48 475 54.5 70 30
® ESDG-56B | 56 - - 56.5 67.0 110 30
ESDG-70B | 70 215" - 67.5 80.0 150 10
ESDG-95B | 95 315" - 915 | 106.0 170 10
- 5 o ¢ di ¢d2 EERFER| BREM
75| 2 ST E SRS \ s ¥
7ﬁ‘§_] % *ﬁ = ,-% 5}?. ﬁ% NW =3 [Ij PG (mm) (mm) (E?ﬁb)mm ()
XPCLT-10BB | 10 | 5/16" 09 9.6 13.0 20 50
XPCLT-12BB | 12 3/8" 11 11.8 15.6 30 50
XPCLT-17BB | 17 1/2" 16 16.6 21.0 40 50
XPCLG-17BB | 17 1/2" 16 15.6 20.9 40 50
XPCLG-23BB | 23 3/4" 21 21.9 28.5 45 50
: XPCLG-29BB | 29 1" 29 27.6 34.5 55 50
e XPCLG-36BB | 36 Iz 36 36.0 42.5 60 30
2 OYEAR XPCLG-48BB | 48 | 11&'~2" 48 47.0 54.5 70 30

12




x
=
-
-
s
—
—

)

BREEAERREE

51318 amwE | Nw | omi | oeo | 29T 002 TESEREREE
PHT c € PHTT-07B 07 1/4" 07 6.2 10.0 15 50
= PHTT-10B 10 | 516" 09 9.6 13.0 20 50
' PHTT-12B | 12 | g 11 120 | 158 30 50
PHTT-14B 14 = 13.5 14.2 18.5 35 50
; PHTT-17B 17 1/2" 16 16.2 21.2 40 50
" ‘1‘“"‘."2‘2' PHTT-23B 23 3/4" 21 22.6 28.5 45 50
PHTG-17B 17 1/2" 16 15.2 21.2 40 50
PHTG-23B 23 3/4" 21 22.0 28.5 45 50
PHTG-29B 29 e 29 27.7 34.5 55 50
d PHTG-36B 36 e 36 35.8 42.5 60 30
PHTG-48B 48 114620 48 46.8 54.5 70 30
SR/ IR SRRES
#5151 amwE | Nw | omi | oeo | Lol 002 TESER SEEE
VOH VOHD-07B 07 1/4" 07 5.8 10.0 20 50
; c € VOHD-10B 10 5/16" 09 9.0 13.0 25 50
VOHD-12B 12 3/8" 11 11.6 15.8 30 50
VOHG-17B 17 1/2" 16 14.5 21.0 40 50
VOHG-23B 23 3/4" 21 21.1 28.5 50 50
VOHG-29B 29 1" 29 26.6 34.5 60 50
VOHG-36B 36 1Va" 36 35.0 42.5 70 30
VOHG-48B 48 11e"~2" 48 46.5 54.5 80 30
VOHG-56B 56 - = 55.5 67.2 135 10
VOHG-70B 70 216" = 67.0 80.0 200 10
o VOHG-95B 95 31" = 90.5 106.0 300 10
@ VOHG-125B| 125 & = 126.0 146.5 480 6

13




e

PMA

£
= L
e —
=f= == T BB G BEE
d1
d2
IEE-ﬁ SEES
M B R SRR IR
- - on ¢ d1 pd2 TR BREM
25| ] =T BE BE fE y T N
PVD c € PVDT-07B 07 1/4" 07 7.0 9.9 15 50
PVDT-10P 10 5/16" 09 9.5 12.6 20 50
PVDT-12P 12 3/8" 11 11.8 188 30 50
= i PVDT-17P 17 1/2" 16 16.0 20.8 40 50
' “ PVDT-23P | 23 | 34 21 226 | 280 45 50
& | PVDT-29P 29 o 29 29.0 34.1 50 50
iL —téﬁnﬁ SEES
SIFRINERREE
- - on ¢ d1 ¢d2 EHYER BRBEN
7251 ] STRES T \ — X
7\‘\\§J %ﬁg D]’;%S}Eﬁ% NW QQD—J PG (mm) (mm) (E?%)mm (7k)
PPCOF-07B 07 1/4" 07 5.6 10.0 25 50
PPCOF PPCOF-10B 10 5/16" 09 8.5 12.8 28 50
PPCOF-12B 12 3/8" 11 11.0 15.6 35 50
PPCOF-17B 17 1/2" 16 15.1 21.1 45 50
PPCOF-23B 23 3/4" 21 221 28.4 60 50
PPCOF-29B 29 1" 29 26.6 34.5 100 50
PPCOF-36B 36 14" 36 31.8 42 .4 120 30
PPCOF-48B 48 110~-2" 48 43.9 54 .1 140 30
PPCOF-70B 70 215" - 60.5 78.0 200 10
= ] J SEELS
S EREGRRES
- - R I min.¢ max.¢ EE |BREN
71‘\\§” g *ﬁ El]- /Eﬁ EE ﬁl% NW }I:I @E*‘lﬁ‘ﬁ?&»ﬁ (mm) (mm) kg/1 OOm (*)
L.PX.04SW 04 = 3.0 8.0 0.4 100
L' Px L.PX.085W 08 SRER-06 5.0 10.0 0.5 100
L.PX.108W 10 SRER-06 7.0 14.0 0.7 50
L.PX.16SW 16 SRER-16 11.0 20.0 0.8 50
L.PX.20SW 20 SRER-16 19.0 28.0 1.2 50
L.PX.258W 25 SRER-21/SRER-29 21.0 34.0 1.4 50
L.PX.30SW 30 SRER-21/SRER-29 25.0 40.0 1.6 50
L.PX.408W 40 SRER-29 31.0 55.0 1.7 50
L.PX.50SW 50 SREV-40/SRER-50 40.0 68.0 2.7 50

14




PMA

EORITIE

HEORiERR

UL

i

45° EIZIETE

90° %88 BEEDE

Y iERE

N EEE
e\

FELEFZCREEPNEIZERI W #Ame  ANE -

(REF;  HABRLEEED)

W T RE G RERREERA—E -

IP66°IP68GT XE75T\ :

(B)1Z5E (IP68GTHEMIINEIR)
~ (C)3EF ~ (D)EF (for IPEBGT)

_a®

TS EIRIREE (AFEINHEHEA
EEB)FIE _

IWERE ST RERRRR BEEE -
(ZEZED)

5F 1 IP68 "GT" hRAIZE8:5H1 IP6SIEIASTBMRIRA E M L "GT" » HINVNV-M120E08NVNV-M120GT
IP68 #£EH :

IXSEEOE : -

8t A

B ~ 385 e

Bk =LEER

Vi m =

FIREIR =~ FEIRB5EI2E IP6s -
RS I WERET
EIHERA e | BERAIR T -
B (A i 2B L)

- REIEAT » 35
FOBORE ) I
REpkER | - (e
IP68+IP69K &5\

* IP69K(DIN 40050-9)BIsHZ £ EA S AR [R5 IP69(IEC 60529)

#Bf

s BT (B) ~ #BE (C) »
Bh7KZ2HE (D)

B

i
i

/&

TSEIRREE (A LI BEFREEN
7Tt (B) - BORIHEE

151 SIS AV EIRRFEE BT
(A+B) HEAREE (C) A

EBITTHR T S AR BT
H ERVSHREMIBIS IR ST EEE

SRFHEME > ER—FTEFEAL
BN (AET™)ERTR)

15



#—KEF IP68 +I1P69K 5K R

o EREEEERRE{FRIRIRES T EE! IP68+IP6OKFHEFR -
o [RERHEATVIBEEERET - BAIRAETHS -

e 360° BB - T SEEZKAEHEE (FRK 100bar).

o ZEEFAMRENET - FBIEAHEFFEEIFAFIEE -

X4 4

- =Tpsto . (mm) B
A2 SIEESRIS NW| 88 i) 5B B & i
NKNH-M120-10 10 | M12X1.5 5/16" 515) 10.0 | 25.0 | 45.0 22 50
NKNH-M160-10 10 | M16X1.5 5/16" 95| 10.0 | 25.0 | 45.0 22 50
NKNH-M162-10 12 | M16X1.5 3/8" 95 | 10.0 | 28,5 | 50.5 25 50
NKNH-M202-10 12 | M20X1.5 3/8" 125 | 10.0 | 285 | 50.5 25 50
NKNH-M207-10 17 | M20X1.5 1/2" 13.5 | 10.0 | 35.0 | 56.0 32 50
NKNH-M257-11 17 | M25X1.5 1/2" 16.5 11.0 | 35.0 | 57.0 32 50
NKNH-M253-11 23 | M25%x1.5 3/4" 185 | 11.0 | 42.0 | 59.5 38 30
NKNH-M323-13 23 | M32X%X1.5 3/4" 23.0 | 13.0 | 43.0 | 61.5 38 30
NKNH-M329-13 29 | M32X1.5 1" 255 | 13.0 | 51.5 | 67.0 46 20
NKNH-M409-13 29 | M40X1.5 1" 29.0 | 13.0 | B3.0 | 68.5 46 20
NKNH-M406-13 36 | M40X1.5 14" 32.5 13.0 | 65.0 | 74.0 60 20
NKNH-M506-14 36 | M50X1.5 14" 37.0 14.0 | 65.0 | 75.0 60 20
NKNH-M508-14 48 | M50X1.5| 11.'~2"| 420 | 140 | 75.0 | 81.0 70 10
NKNH-M638-14 48 | MB3X1.5| 114"'~2"| 48,5 | 14.0 | 75.0 | 81.0 70 10
- S e (mm) B
EII =4 SIFESRAS NW| F#8 | = 03 B @ o A B 6 S| e
45‘,%”2;&;5 (’A‘ﬁ']ﬂ) NKAH-M120-10 10 | M12X1.5| 5/16" 5.5/10.0| 25.0| 55.5| 43.0/33.0| 14 50

NKAH-M160-10 10 | M16X1.5| 5/16" 9.5/10.0| 25.0| 55.5| 45.0{33.0| 14 | 50
NKAH-M162-10 12 [M16X15| 3/8" 9.5/10.0| 28.5| 62.5| 50.0/38.0| 17 | 50
NKAH-M202-10 12 |[M20x15| 3/8" |12.5/10.0|28.5| 625/ 52.0/38.0| 17 | 50
NKAH-M207-10 17 |[M20x15| 1/2" | 13.5/10.0| 35.0| 71.0| 59.5/45.0| 22 | 50
NKAH-M257-11 17 |M25x15| 1/2' |17.0{11.0|35.0| 72.0| 625/45.0| 22 | 50
NKAH-M253-11 23 |M25X15| 3/4" | 18.5|/11.0|43.0| 80.0| 68.0/50.5| 28 | 30
NKAH-M323-13 23 |M32X1.5| 3/4" |23.0/13.0|43.0| 820| 72.0{50.5| 28 | 30
NKAH-M329-13 29 | M32X1.5 1" 25.0|/13.0| 51.5| 93.0| 79.5/58.0| 36 | 20
NKAH-M409-13 29 | M40X1.5 1" 29.0|13.0| 55.0| 94.5| 855|58.0| 36 | 20
NKAH-M406-13 36 | M40X15| 1% | 32.5/13.0/61.0/1056.5| 93.5/66.0| 46 | 20
NKAH-M506-14 36 | M50Xx1.5| 1%' | 37.5/14.0|65.0/106.5| 98.5|66.0| 46 | 20
NKAH-M508-14 48 | M50X1.5 | 114'~2"| 41.0/14.0| 73.0(120.0{110.0| 76.0| 55 | 10
NKAH-M638-14 48 | M63X1.5 | 114'~2"| 48.5/14.0| 73.0(120.0{114.0| 76.0| 55 | 10

_ S - (mm) FES

=5 B STEBSRIS NW | F38 E=llin) o

L ’ gD g A B #C #D R sw =l

EEAIE0E (ABF) NKBH-M120-10 | 10 | M12X1.5| 5/16' | 5.0]10.0] 44.0] 625] 25.0] 200[255] 12 | 50
=/1/

NKBH-M160-10 10 | M16X1.5| 5/16" | 9.0/ 10.0| 44.0| 64.5/25.0|24.0{255| 12 | 50
NKBH-M162-10 12 | M16X1.5]| 3/8" 8.0/ 10.0| 47.5| 72.0/28.5|24.0/28.0| 15 | 50
NKBH-M202-10 12 | M20X1.5| 3/8" |[11.8|10.0| 47.5| 74.0/28.5|28.0{28.0| 15| 50
NKBH-M207-10 17 | M20X1.5| 1/2" [11.5|10.0| 53.0| 81.0/35.0(29.0{29.5| 20 | 50
NKBH-M257-11 17 | M25X1.5| 1/2" |16.5[11.0| 54.0| 84.0/ 356.0| 35.0{29.5| 20 | 50
NKBH-M253-11 23 | M25X15| 3/4" |16.0/11.0| 63.0] 92.0/43.0| 35.0|35.0| 26 | 30
NKBH-M323-13 23 | M32Xx15| 3/4" |225(13.0| 65.0| 96.0/ 43.0| 43.0|35.0| 26 | 30
NKBH-M329-13 29 | M32X1.5 1" 23.0{13.0| 75.0{108.0| 51.5| 43.0(41.5| 33 | 20
NKBH-M409-13 29 | M40X 1.5 1" 28.5|13.0| 76.5|114.0| 51.5|55.0{41.5| 33 | 20
NKBH-M406-13 36 | M40X1.5| 1" |29.56|13.0| 87.5(126.0| 60.5| 55.0|49.0| 41 | 20
NKBH-M506-14 36 | M50X1.5| 1%" |37.0|14.0| 88.5/131.0/ 60.5|65.0{49.0| 41 | 20
NKBH-M508-14 48 | M50X 1.5 | 14"'~2"| 38.5| 14.0|101.0|145.5| 73.0| 69.0| 55.5| 55 | 10
NKBH-M638-14 48 | M63Xx1.5| 14"'~2"| 48.0| 14.0|101.0|148.5| 73.0| 75.0| 55.5| 55 | 10

16 SENEEEETERE. BRI RERESR




PMA

#F—IKEFI P68 +I1P69KpHK S

o EfREEARFRE(F AIRIRESOZEE!I P68+ IP6OK FIEEHEHR
o [RRHEATVIBEEELET - BAIRAETHS -

e 360° BB - T SEEZKAEHE (FRKX 100bar).

o ZEEFAMMRENET - FBIEAHE T EEIFAFIEE -

o E [} S (mm) B
RFEDE (QHIF) | TERE Nw | F] (R0 o uome L sw|Em
NKIS-M162 12 | M16X1.5| 3/8" |13.5] 9.0/28.5/49.0| 25 | 50

NKIS-M207 17 | M20X1.5| 1/2" [18.0{10.5(35.0/56.0| 32 | 50

NKIS-M253 23 | M25X1.5| 3/4" |23.0/10.5|43.0{58.5| 38 | 30

NKIS-M329 29 | M32x15| 1" [30.0/11.0|51.5|/655| 46 | 20

NKIS-M406 36 | M40X1.5( 1%" |38.0/13.5|60.5|72.0| 46 | 20

NKIS-M508 48 | M50X1.5|112"~2"48.0(/15.0|73.0|83.0| 60 | 10

NKIS-M638 48 | M63%X1.5(1,"'~2"50.5|17.5|75.0{84.0| 70 | 10

oo aos (mm) 2k
Ejﬁﬁﬁ% NW T8 = Y g 6D #AD L BS {7

BKIHG-U212 | 12 | 7/8"-20 UNEF | 3/8" 9.0|12.5|28.5|47.0| 50
BKIHG-U217 | 17 | 7/8"-20 UNEF | 1/2" 9.0|13.0|35.0| 52.5| 50
BKIHG-U242 | 12 1"-20 UNEF 3/8" 9.0|12.5|31.0| 47.0| 50
BKIHG-U243 | 23 1"-20 UNEF 3/4" 9.0|17.0|43.0| 55.,5| 30
BKIHG-U247 | 17 1"-20 UNEF 1/2" 9.0|16.5|35.0| 52.5| 50
BKIHG-U292 | 12 | 1%:¢'-18 UNEF| 3/8" 9.0|12.5|36.0| 50.5| 50
BKIHG-U293 | 23 | 1%¢"-18 UNEF| 3/4" 9.0|21.0|43.0| 55.5| 30
BKIHG-U297 | 17 | 1%:¢'-18 UNEF| 1/2" 9.0|16.5|36.0| 52.5| 50
BKIHG-U299 | 29 | 1%:¢'-18 UNEF| 1" 9.0|21.0|51.5|61.0| 20
BKIHG-U353 | 23 | 17:¢'-18 UNEF| 3/4" 9.0(23.0(43.0|55.5| 30
BKIHG-U357 | 17 | 174618 UNEF| 1/2" 9.0[16.5(43.0|58.0| 50
BKIHG-U359 | 29 | 17/¢"-18 UNEF| 1" 9.0(28.0(515|61.0| 20
BKIHG-U433 | 23 | 13418 UNS | 3/4" [10.0|23.0|51.5| 62.5| 30
BKIHG-U439 | 29 | 134"-18 UNS 1" 10.029.0|51.5| 62.0| 20
BKIHG-U503 | 23 2'-18 UNS 3/4" 110.0[23.0|58.0| 67.0| 30
BKIHG-U506 | 36 2'-18 UNS 1" 110.0 |37.0{60.5| 67.0| 20
BKIHG-U508 | 48 218 UNS [ 1%2"~2"[10.0 [42.0| 73.0| 73.5| 10
BKIHG-UB09 | 29 2'-18 UNS 1" 10.0{29.0|58.0| 67.5| 20
BKIHG-U566 | 36 24"-16 UN 1v" 110.0|37.0|65.0| 72.0| 20
BKIHG-U568 | 48 2416 UN | 17%"'~2"110.0|48.0| 73.0| 73.5| 10

BT WS Nw | T8 | m oo ™o Bk
KNH2-NW10 | 10 M12 5/16" 28.0 22.0 50
KNH2-NW12 | 12 M16 3/8" &85 25.5 50
KNH2-NW17 | 17 M20 1/2" 38.5 &1.8 50
KNH2-NW23 | 23 M25 3/4" 41.0 38.5 30
KNH2-NW29 | 29 M32 1" 46.5 46.5 20
KNH2-NW36 | 36 M40 14" 50.5 5515 20
KNH2-NW48 | 48 M50 11" ~2" 56.5 68.0 10

17



EfiEER (€ N

ARIBHE amws W FR | mW Ejb g 4D oL s Eiﬁ
MH (ABIF) BVND-M12mGT | 07 | M12X15 1/4" 13 111.0]20.0| 34.5| 14 | 100
BVND-M120GT 10 | M12X15] 5/16" 13 111.0]20.0| 36.5| 17 | 100

£ I | BVND-M160GT 10 | M16X15| 5/16" 17 [11.0]123.0| 36.5| 17 | 100

q vy BVND-M162GT 12 | M16X 1.5 3/8" 17 [11.0]123.5| 39.5| 20 | 100
—] =1 . BVND-M200GT 10 | M20X1.5| 5/16" 21 111.0126.0| 36.5| 17 | 100
EL T 2 G T = E BVND-M202GT 12 | M20X 15 3/8" 21 111.0]26.0| 39.5| 20 | 100
—1 = BVND-M207GT 17 | M20X 1.5 1/2" 21 111.01 295 | 47.5| 26 | 100
BVND-M203GT 23 | M20X 1.5 3/4" 21 (11.0| 37.0| 51.0| 32 50

BVND-M257GT 17 | M25X15 1/2" 26 [ 12.0|132.0| 485 26 | 100

BVND-M253GT 23 | M25X 1.5 3/4" 26 [ 12.0| 37.0| 52.0| 32 50

BVND-M323GT 23 | M32X1.5 3/4" 33 [(15.0|43.0| 55.5| 32 50

BVND-M329GT 29 | M32X1.5 1" 33 (15.0|44.0| 56.0| 40 30

BVND-M409GT 29 | M40X 1.5 1" 41 {19.0 | 49.0| 60.0| 40 30

BVND-M406GT 36 | M40X 1.5 14" 41 {19.0|55.0| 72.5| 50 20

BVND-M506GT 36 | M50X 1.5 14" 51 [19.0| 59.0| 72.0| 50 20

BVND-M508GT 48 | M50X1.5| 114"~2"| 51 [ 19.0| 69.0| 72.5| 65 10

BVND-M638GT 48 | M63X1.5| 114."'~2" | 64 [ 19.0| 75.0| 72.0| 65 10

PSE () BVND-GOOMGT 07 1/4" 1/4" 14111.0|20.0| 34.5| 14 |100
BVND-GOO0OGT 10 1/4" 5/16" 14 111.0|20.0|36.5| 17 [100

L BVND-GO10GT 10 3/8" 5/16" 18 [11.0123.0|36.5| 17 [100

q P BVND-GO12GT | 12| 38" 3/8" | 18 [11.0]23.5|39.0| 20 |100
— ] /7 . BVND-G022GT 12 1/2" 3/8" 22 113.0126.0| 41.0| 20 |100
& E % = § BVND-GO27GT | 17| 1/2" 120 | 22 [13.0|20.5| 495| 26 |100
Ll ' BVND-G043GT 23 3/4" 3/4" 27 |114.0|37.0| 54.0| 32 50
BVND-GO069GT 29 1" 1" 34 115.0|44.0| 56.0| 40 30

BVND-GO76GT 36 114" 114" 42 118.0 | 55.0| 71.0| 50 20

BVND-G088GT 48 114" 112'~2"| 48 [ 18.069.0| 71.5| 65 10

BVND-G098GT 48 2" 112'~2"| 60 [ 18.0 | 69.0| 71.5| 65 10

18



PMA

B (€ N

- _ IP66 IR g | T30 (mm) B
RINBHE gmmE | "W pc| X" |RY| g eOme L sw | Bf
BVND-PO7mGT-11| 07 07 1/4" 13 [ 11.0] 16.5] 345 14 | 100

PG ZF (=515) BVND-PO7mGT-8 | 07 07| 1/ | 13| 80|165|31.5| 14 | 100
BVND-PO70GT-11 10 07| 516" | 13 [ 11.0[ 200|365 17 | 100
BVND-PO70GT-8 10 07| 516" | 13| 80| 200|335] 17 | 100
BVND-P0O72GT-11 12 07 3/8" 13 [11.0] 235[39.0| 20 | 100
BVND-PO72GT-8 12 07 3/8" 13 | 8.0[235[36.0| 20 | 100
BVND-PO9MGT-11| 07 09 1/4" 16 | 11.0] 200|345 14 | 100

T BVND-PO9MGT-8 07 09 1/4" 16 | 8.0]200[315| 14 | 100
=| 8 BVND-PO90GT-11 10 09 | 5/16" 16 | 11.0] 20.0|36.5| 17 | 100
}g BVND-PO90GT-8 10 09| 516" | 16 | 8.0[ 200|335 17 | 100
BVND-P092GT-11 12 09 3/8" 16 | 11.0] 235 39.0| 20 | 100
BVND-P092GT-8 12 09 3/8" 16 | 8.0/ 235|36.0| 20 | 100
BVND-P0O97GT-11 17 09 iZs 16 | 11.0| 295475 26 | 100
BVND-P097GT-8 17 09 1/2" 16 | 8.0]295]445| 26 | 100
BVND-P11mGT-11| 07 11 1/4" 19 [ 11.0] 230345 14 | 100
BVND-P11mGT-8 07 11 1/4" 19 | 80[230[315| 14 | 100
BVND-P110GT-11 10 11| 516" | 19 [11.0|23.0][365] 17 | 100
BVND-P110GT-8 10 11| 516" | 19| 80| 230][335 17 | 100
BVND-P112GT-11 12 11 3/8" 19 [ 11.0] 235 39.0| 20 | 100
BVND-P112GT-8 12 11 3/8" 19 | 8.0]/235|36.0| 20 | 100
BVND-P117GT-11 17 11 1/2" 19 [11.0] 295475 26 | 100
BVND-P117GT-8 17 11 1/2" 19 | 8.0[295]445| 26 | 100
BVND-P13mGT-11| 07 | 135 1/4" 21 [ 11.0]26.0|345] 14 | 100
BVND-P13mGT-8 07 | 135 1/4" 21 | 80[26.0|315] 14 | 100
BVND-P130GT-11 10 | 135 5M16" | 21 [11.0]26.0] 365 17 | 100
BVND-P130GT-8 10 [185| 516" | 21 | 80| 26.0[335| 17 | 100
BVND-P132GT-11 12 [ 135 3/8" 21 [ 11.0] 26.0|39.0] 20 | 100
BVND-P132GT-8 12 [ 135 3/8" 21 | 8.0[26.0|36.0] 20 | 100
BVND-P137GT-11 17 | 135 1/2" 21 [11.0[2905]475] 26 | 100
BVND-P137GT-8 17 [ 135 1/2" 21 | 80[295]445] 26 | 100
BVND-P160GT-11 10 16| 516" | 23 |11.0] 295|365 17 | 100
BVND-P160GT-8 10 16| 516" | 23| 80[ 295|335 17 | 100
BVND-P162GT-11 12 16| 3/8" 23 [11.0[ 275]39.0] 20 | 100
BVND-P167GT-11 17 16 12 23 [11.0[ 295]475] 26 | 100
BVND-P167GT-8 17 16 1/2" 23 | 80(295]|445] 26 | 100
BVND-P163GT-11 | 23 16 3/4" 23 [ 11.0] 370|51.0] 32 50
BVND-P163GT-8 23 16 | 3/4" 23 | 8.0|37.0]480]| 32 50
BVND-P213GT 23 21 3/4" 29 [ 12.0| 37.0| 52.0] 32 50
BVND-P296GT 36 29 114" 37 [ 12.0] 54.0[ 675 50 20
BVND-P299GT 29 29 g 37 [ 12.0] 44.0| 53.0] 40 30
BVND-P366GT 36 36 114" 47 | 13.0| 55.0| 66.0| 50 20
BVND-P368GT 48 36 | 1."~2" | 47 [ 13.0] 69.0| 685 65 10
BVND-P428GT 48 42 | 1~2" | 54 [ 13.0] 69.0| 685 65 10
BVND-P488GT 48 48 | 1.'~2" | 60 | 13.0] 69.0| 66.5| 65 10

19




90° EfizizaR (€ M

- - P66 = (mm) B
RIE® mmew (VW] TR | R 5 spm A B | E=m
BVWD-M12mGT 07 M12X1.5 1/4" 110 | 165 | 3820 | 35.0 | 100

M ZF (2#515) BVWD-M120GT 10 Mi2x15 | 5/16" 11.0 | 20.0 | 34.0 | 395 | 50
E] BVWD-M160GT 10 M16X1.5 5/16" 110 | 220 | 34.0 | 405 50

, BVWD-M162GT 12 M16X1.5 3/8" 11.0 | 235 | 385 | 46.0 50

A ; BVWD-M200GT 10 M20 % 1.5 5/16" 11.0 | 26.0 34.0 | 425 50
S = g BVWD-M202GT 12 M20X 1.5 3/8" 11.0 | 260 | 385 | 475 50
- = BVWD-M207GT 17 M20x1.5 1/2" 110 | 295 | 435 | 585 50
i BVWD-M253GT 23 M25X 1.5 3/4" 120 | 37.0 | 540 | 650 30

m} | BVWD-M329GT 29 M32x1.5 i 150 | 440 | 645 | 73.0 20
BVWD-M406GT 36 M40X 1.5 iz 19.0 | 535 | 78.0 | 96.0 20

i BVWD-M508GT 48 M50X15 | 14'~2" | 19.0 | 660 | 915 | 106.0 10
BVWD-PO7mGT-11 07 PG7 1/4" 11.0 | 165 | 320 | 350 | 100

BVWD-PO7mGT-8 07 PG7 1/4" 80 | 165 | 29.0 | 350 | 100

BVWD-P070GT-11 10 PG7 5/16" 11.0 | 200 | 340 | 395 50

BVWD-P070GT-8 10 PG7 5/16" 80 | 200 | 31.0 | 395 50

BVWD-P072GT-11 12 PG7 3/8" 11.0 | 235 | 385 | 445 50

BVWD-P072GT-8 12 PG7 3/8" 80 | 235 | 355 | 445 50

g BVWD-PO9mGT-11 07 PG9 1/4" 11.0 | 200 | 320 | 365 | 100

£ BVWD-PO9mMGT-8 07 PGO 1/4" 80 | 200 | 29.0 | 865 | 100

= BVWD-PO90GT-11 10 PG9 5/16" 11.0 | 200 | 34.0 | 395 50

BVWD-P090GT-8 10 PGO 5/16" 80 | 200 | 31.0 | 395 50

BVWD-P092GT-11 12 PG9 3/8" 11.0 | 235 | 385 | 445 50

BVWD-P092GT-8 12 PGO 3/8" 80 | 235 | 355 | 445 50

BVWD-P11mGT-11 07 PG11 1/4" 11.0 | 230 | 320 | 380 | 100

BVWD-P11mGT-8 07 PG11 1/4" 80 | 23.0 | 29.0 | 38.0 | 100

BVWD-P110GT-11 10 PG11 5/16" 11.0 | 230 | 340 | 41.0 50

BVWD-P110GT-8 10 PG11 5/16" 80 | 230 | 31.0 | 41.0 50

BVWD-P112GT-11 12 PG11 3/8" 110 | 235 | 385 | 46.0 50

BVWD-P112GT-8 12 PG11 3/8" 8.0 23.5 35.5 46.0 50

BVWD-P13mGT-11 07 PG13.5 1/4" 110 | 260 | 320 | 395 50

BVWD-P13mGT-8 07 PG13.5 1/4" 80 | 26.0 | 29.0 | 395 50

BVWD-P130GT-11 10 PG13.5 5/16" 110 | 260 | 340 | 425 50

BVWD-P130GT-8 10 PG13.5 5/16" 80 | 26.0 | 31.0 | 425 50

BVWD-P132GT-11 12 PG13.5 3/8" 110 | 260 | 385 | 475 50

BVWD-P132GT-8 12 PG13.5 3/8" 80 | 26,0 | 355 | 475 50

BVWD-P137GT-11 17 PG13.5 1/2" 11.0 29.5 43.5 58.5 50

BVWD-P137GT-8 17 PG13.5 1/2" 80 | 295 | 405 | 585 50

BVWD-P167GT-11 17 PG16 1/2" 11.0 29.5 43.5 58.5 50

BVWD-P167GT-8 17 PG16 1/2" 80 | 295 | 405 | 585 50

BVWD-P213GT 23 PG21 3/4" 12.0 | 370 | 540 | 67.0 30

BVWD-P299GT 29 PG29 ik 120 | 440 | 615 | 745 20

BVWD-P366GT 36 PG36 I 13.0 | 535 | 72.0 | 98.0 20

BVWD-P488GT 48 PG48 1'~2" | 130 | 690 | 855 | 111.0 10

BVWD-GOOMGT 07 1/4" 1/4" 110 | 165 | 320 | 36.5 50

PSHF (13) BVWD-GOOOGT 10 1/4" 5/16" 11.0 | 200 | 34.0 | 39.5 50
& BVWD-GO10GT 10 3/8" 5/16" 110 | 200 | 340 | 405 50
BVWD-GO12GT 12 3/8" 3/8" 11.0 | 235 | 385 | 46.0 50

/‘| : _ BVWD-G022GT 12 1/2" 3/8" 13.0 | 26.0 | 405 | 47.5 50
i E{ g BVWD-G027GT 17 1/2" 1/2" 13.0 | 295 | 455 | 585 50
- £ BVWD-G043GT 23 3/4" 3/4" 140 | 370 | 560 | 66.5 30
! i BVWD-GOB9GT 29 ik ik 150 | 440 | 645 | 735 20

o ] BVWD-GO76GT 36 Bz 114" 180 | 535 | 77.0 | 96.0 20
BVWD-GO88GT 48 115" 1%'~2" | 18.0 | 66.0 | 90.5 | 106.0 10

e BVWD-G098GT 48 2 1'~2" | 180 | 69.0 | 905 | 111.0 10

20 SENPTHRER - TLRYESE18 ~ 198



PMA

45° Efiz 1Y

C€ N

k]
RO BIA L NI T I PRGN

ME (REIF) BVAD-M120GT 10 | M12X1.5 5/16" 11.0 | 20.0 | 43.5| 37.0| 50
BVAD-M160GT 10 | M16X1.5 5/16" 11.0 | 20.0 | 43.5| 38.0| 50

BVAD-M162GT 12 | M16X1.5 3/8" 11.0| 23,5 | 47.5| 41.0| 50

BVAD-M202GT 12 | M20X%X1.5 3/8" 11.0] 26.0 | 47.5| 42.5| 50

BVAD-M207GT 17 | M20X%X1.5 1/2" 11.0 | 29.5 | 57.5| 52.5| 50

BVAD-M253GT 23 | M25X1.5 3/4" 12.0| 37.0 | 66.0| 59.5| 30

BVAD-M329GT 29 | M32X1.5 1" 15.0| 44.0| 74.5| 67.0] 20

BVAD-M406GT 36 | M40X1.5 14" 19.0 | 53.0 | 92.5| 85.5| 20

BVAD-M506GT 36 | M50%X1.5 14" 19.0 | 53.0 | 92.5| 89.5| 20

BVAD-M508GT 48 | M50X1.5| 11£"~2" | 19.0 | 65.0 [100.0| 96.0| 10

BVAD-M638GT 48 |M63X1.5| 11"'~2" | 19.0 | 65.0 [100.0|104.0| 10

PG 5 (E=EISF ) BVAD-P0O90GT 10 PG 9 5/16" 11.0| 20.0 | 43.5| 37.0| 50
BVAD-P112GT 12 PG11 3/8" 11.0| 24.0 | 48.0] 40.0| 50

BVAD-P132GT 12 PG13.5 3/8" 11.0 | 24.0 | 48.0| 41.5| 50

BVAD-P137GT 17 PG13.5 1/2" 11.0 | 30.0 | 55.5| 51.5| 50

BVAD-P167GT 17 PG16 1/2" 11.0| 30.0 | 55.5| 51.5| 50

BVAD-P213GT 23 PG21 3/4" 11.0| 37.0 | 63.0| 58.0| 30

BVAD-P299GT 29 PG29 1" 12.0 | 44.0 | 69.0| 66.0| 20

BVAD-P366GT 36 | PG36 Iz 13.0| 53.0 | 86.0| 86.0| 20

BVAD-P488GT 48 PG48 112"'~2" | 13.0| 65.0 | 94.0/100.0| 10

BVAD-N022GT 12 1/2" 3/8" 13.0 | 24.0 | 50.0| 41.5| 50

BVAD-NO27GT 17 1/2" 1/2" 13.0 | 30.0 | 57.5| 51.5| 50

BVAD-N043GT 23 3/4" 3/4" 14.0| 37.0 | 67.0| 60.0| 30

BVAD-NO69GT 29 70 1" 156.0| 44.0| 73.5| 67.0| 20

BVAD-NO76GT 36 W 14" 18.0| 53.0| 91.5| 85.5| 20

BVAD-NO88GT 48 11" 172'~2" | 18.0 | 65.0 | 99.0| 96.0| 10

BVAD-N098GT 48 o 172"'~2" 1 18.0 | 65.0 | 99.0/101.0| 10

21

TIRYESE18 ~ 198




EEMET
AhEERZ 120

Ce M

o
BvVBD smww MW TR RO As R oew|BE

M 5 (A55) BVBD-M207GT | 17 [M20x15| 1/2° |11.0]11.0|47.5| 73.0/ 305 15| 50
BVBD-M257GT | 17 [M25x15| 1/2' |145|120|485| 76,0/ 305 18| 50

; ' BVBD-M253GT | 23 [M25x1.5| 3/4" |155|120|57.5| 83.0/ 380 21| 30

. \%—_—% | 1 | BVBD-M323GT | 23 |M32x15| 3/4' |195|15.0|61.0| 87.5| 38.0| 24| 30
.ié ﬂ‘«” /B 1T [BveDMa29aT | 28 |Ma2x15| 1 | 230|150 705 | 93.0] 450] 28| 20
i}:\ “ £ BVBD-M409GT | 29 |M40Xx15| 1" 28.519.0| 745 | 985| 45.0| 34| 20
D = BVBD-M406GT | 36 [M40x15| 114" |29.0|19.0 | 85.0|121.0/ 53.0| 36| 20
: BVBD-M506GT | 36 [M50x1.5 114" |365|19.0 | 85.0|125.0] 53.0 | 41| 20
BVBD-M508GT | 48 [M50x1.5| 114'—2" | 38.5| 19.0 | 98.5|130.0| 60.0 | 46 | 10

BVBD-M638GT | 48 [M63x1.5( 114'~2" | 48.0| 19.0 | 98.5|138.0/ 60.0 | 55| 10

BVBD-P167GT | 17 | PG16 | 1/2' |145|11.0|475| 730|305 18] 50

BVBD-P213GT | 23 | PG21 | 34" |195|120|57.5| 85.0| 380 24| 30

BVBD-P299GT | 29 | PG29 1" | 285|120 67.5| 96.0| 45.0| 34| 20

BVBD-P366GT | 36 | PG36 | 1% |36.0|13.0|79.0(123.0| 53.0 41| 20

BVBD-P488GT | 48 | PG48 | 11%'—2' | 48.0| 13.0 | 92.5(135.0/ 60.0 | 55| 10

e N B R T v -

BVOD-P167GT | 17 | 1/2 |295| 66(46.0| 22 | - |36.0(35.520.5|2XM5| 50

BVOD-P213GT | 23 | 3/4" [37.0| 70|65.5) 31 | - |53.0(43.0|24.5/2xM6| 30

BVOD-P299GT | 29 | 1" |44.0| 78|67.0| 21 | 36 |54.0(49.5|27.5/4X M6 | 20

BVOD-P366GT | 36 | 114" |53.5/102(85.0| 29 | 30 |73.5(65.5|38.5|4XM6| 10

BVOD-P488GT | 48 | 114'~2" |66.0{119 |86.0| 43 | 30 |73.5(77.5|44.5|4XM6| 10

"

EIIH;?)%% Y| s D L C G(mm)E F H T | M EE

BVOV-P167GT | 17 | 1/ |29.5| 66|46.0(22.0] - |36.0|35.5/20.5/2xM5| 50

BVOV-P213GT | 23 | 3/4' |37.0| 70|65.5/31.0] - |53.0[43.0/24.5/2%M6| 30

BVOV-P299GT | 29 | 1 |44.0| 78(67.0[21.0| 36(54.0/49.527.5/4xM6| 20

BVOV-P366GT | 36 | 1% |53.5/102(85.0[29.0/ 30 |73.5/65.5|38.5/4xM6| 20

BVOV-P488GT | 48 | 114"~2'| 66.0| 119|86.0[43.5| 30 |73.5/77.544.5|4xM6| 10

22

TIRYESE18 ~ 198



PMA

TRIREFEE (€ N

_ P68 e (mm) B
RIIEE STEESRIS et 25 1 il ID g ¢Dmax. L sw %E
NVNV-M120-10 | 10 | 516" |Mi2x15| 55| 10 | 21 | 40.0| 19 | 50

NVNV-M120-5 10 | 516 | Mi2x15| 55| 5 | 21 | 350] 19 | 50

NVNV-M160-10 | 10 | 516 |[Mi6x15| 95| 10 | 24 | 400| 19 | 50

- NVNV-M160-5 10 | 5/16" | M16x15| 95| 5 | 24 | 350| 19 | 50

_ NVNV-M162-10 | 12 | a@ |[Mi6x15| 95| 10 | 26 | 430| 24 | 50
- NVNV-M162-5 12 | 3/8° |Mi16x15| 95| 5 | 26 | 380| 24 | 50
Y 4 NVNV-M202-10 | 12 38" | M20x1.5[135] 10 | 28 | 430| 24 | 50
4 NVNV-M202-6 12 | 3@ |M20x15[135| 6 | 28 | 39.0[ 24 | 50

. NVNV-M207-10 | 17 1/20 | m20x1.5[185] 10 | 33 | 51.0] 30 | 50
NVNV-M207-6 17 120 | mM20x15[135| 6 | 33 | 47.0| 30 | s0

g e o NVNV-M257-11 | 17 1/20 | m25x15[180[ 11 | 35 | 52.0| 30 | 50
-4~ NVNV-M257-7 17 120 | m2sx15[180] 7 | 35 | 480| 30 | 50
__{D NVNV-M253-11 | 23 | a4 |M25x15[185| 11 | 39 | 540| 36 | 30
B _ E[' i “%_ | g| [NVNV-M253-7 23 34 | m25x15[185| 7 | 39 |500]| 36 | 30
& | | NVNV-M323-13 | 23 34" | Ma2x1.5|240| 13 | 43 | 56.0] 36 | 30
1= NVNV-M323-8 23 34" | Ma2x15|240| 8 | 43 |510] 36 | 30
w— NVNV-M329-13 | 29 1" M32x15|250| 13 | 50 | 57.3| 46 | 20
NVNV-M329-8 29 i M32x15[250| 8 | 50 | 52.3| 46 | 20

NVNV-M409-13 | 29 1" M40x15 315 | 13 | 53 | 67.3] 46 | 20

NVNV-M409-8 29 1 M40x15|315| 8 | 53 | 523 46 | 20

NVNV-M406-13 | 36 | 1% |M40x15[325| 13 | 59 | 71.4] 55 | 20

NVNV-M406-8 36 | 14 | ma0xi15(325| 8 | 59 | 664 55 | 20

NVNV-M506-14 | 36 | 1w |Ms0x15[395| 14 | 65 | 72.4| 55 | 20

NVNV-M506-9 36 | 14 | ms0x15(395| o | 65 |67.4| 55 | 20

NVNV-M508-14 | 48 | 1v~2' | M50x15 415 14 | 71 | 72.4] 65 | 10

NVNV-M508-9 48 | 1yr~20 [ms0x15[415| o | 71 [e7.4] 65 | 10

NVNV-M638-14 | 48 | 14~2' | M63x15|51.5| 14 | 75 | 72.4| 65 | 10

NVNV-M638-10 | 48 | 1%'~2' | M63x15 |51.5| 10 | 75 | 68.4| 65 | 10

_1Pes NwW| B IT | F8 (mm) o=

5] RS D g A B ¢C ¢D R W |EfI

NVBV-M207-10 | 17 | 1/2° |[M20x15]11.0] 10| 510 730]295| 29 [30.5] 15 | 50

NVBV-M207-6 | 17 | 1/2° |[M20x15|11.0| 6| 47.0| 730|29.5| 29 [30.5( 15 | 50

NVBV-M257-11 | 17| 1/2* |M2sx15]145] 11| 520| 760] 29.5| 35 [30.5] 18 | 50

NVBV-M257-7 | 17| 1/2* |Mesx15]145| 7| 480| 760|295 35 [305] 18| 50

NVBV-M253-11 | 23 | 8/4" |[M25x15|155| 11| 625/ 850(37.0| 35 [38.0( 21 | 30

NVBV-M253-7 | 23| 8/4" |M25x15|155| 7| 585/ 85.0(37.0| 35 [38.0( 21 | 30

NVBV-M323-13 | 23 | 3/4" |M32x15|19.5| 13| 645| 89.0]37.0{ 43 [380] 24 | 30

NVBV-M323-8 | 23| 84" |M32x15|195| 8| 595 89.0]37.0| 43 [38.0] 24 | 30

NVBV-M329-13 | 20| 1* [M32x15|230| 13| 740| 945|440 43 [450] 28 | 20

NVBV-M3290-8 | 29| 1* [M32x15]230| 8| 69.0| 945|440 43 [450] 28] 20

NVBV-M409-13 | 29 | 1" [M40x15]285] 13| 755[1005| 44.0{ 55 [ 450] 34 | 20

NVBV-M409-8 | 20| 1* [Mdox15|285| 8| 705[1005|44.0] 55 |450] 34 | 20

NVBV-M406-13 | 36 | 1% |M40x1.5|29.0| 13| 865(123.0|535| 55 |53.0( 36 | 20

NVBV-M406-8 | 36 | 14 |Maox15]290| 8| 815[1230]535] 55 [530] 36 | 20

NVBV-M506-14 | 36 | 14" |M50x15|365| 14| 87.5/1300|53.5| 69 [53.0( 41 | 20

NVBV-M506-9 | 36 | 14 |Msox15|365| 9| 825[1300]535] 69 [530] 41| 20

NVBV-M508-14 | 48 | 1%'~2' [M50%1.5|38.5| 14 [1005135.0| 66.0| 69 |60.0| 46 | 10

NVBV-M508-9 | 48 | 112~2' [Ms0x15]385| 9| 955[1350]66.0] 69 [600] 46 | 10

NVBV-M638-14 | 48 | 1%'~2' |M63x1.5| 48.0| 14 [1005(138.0| 66.0| 75 [60.0] 55 | 10

NVBV-M638-10 | 48 | 1%'~2' |M63x1.5|48.0| 10| 965/138.0| 66.0| 75 |60.0| 55 | 10

23 SEPG ~ NPTHRER » TLRIYFEZRE18E



PMA

TREFIEE (€ N

-
RIBH %Il,ﬂ;?ﬁ;?ﬁ% I O ¢D(r:;T)A s o e
45°ZE M F NVAV-M120-10 | 10 | 516" |Mi2x15| 57| 10 | 200 485| 37.0| 27.0| 50
NVAV-M120-5 10 | 516" |Mi2x15| 57| 5 |200]| 435| 37.0| 27.0| 50

NVAV-M162-10 | 12 | 3/8" |Mi6x15| 95| 10 | 240 50.5| 41.5| 205| 50

NVAV-M162-5 12 | 3/8" |Mi6x15| 97| 5 |240| 480| 40.5| 285 50

NVAV-M207-10 | 17 | 1/2' |M20x15|135| 10 | 205 | 605| 52.5| 38.0| 50

NVAV-M207-6 17 | 1/2° |M20x15|137| 6 |300]| 565| 51.5| 37.0| 50

NVAV-M253-11 | 23 | 3/4" |M25x15|185| 11 |37.0| 69.0| 61.0| 435| 30

NVAV-M253-7 23 | 84" |M2sx15|186| 7 |37.0| 66.0| 60.5| 43.0| 30

b NVAV-M257-11 | 17 | 1/2" |M25%x15|17.0| 11 | 350 61.5| 555| 380| 50

'f_"‘ NVAV-M323-13 | 23 | 84" |M32x15|230| 13 | 430/ 71.0| 650 435| 30
=42E S NVAV-M329-13 | 29 | 1" |M32x15|255| 13 | 440| 765| 68.5| 47.0| 20
. . NVAV-M329-8 20 | 1" |Msex15|257| 8 |440| 720| 680| 465| 20
S | Nvav-meoets | 3 14 |M40x15|330| 13 | 550 94.0| 87.5| 600| 20

S NVAV-M406-8 36 | 1% |M40x15/330| 8 |550| 89.0| 87.5| 60.0| 20

NVAV-M409-13 | 29 | 1" |M40x15/305| 13 | 530 780| 735| 47.0| 20

NVAV-M506-14 | 36 | 1Y |Ms0x15|385| 14 | 650 950| 92.5| 600| 20

NVAV-MB508-14 | 48 | 1v'~2'|M50x15| 42.3 | 14 | 69.0 |102.0/101.0| 665| 10

NVAV-M508-9 48 | 1v2'~2" [Ms0x 15| 423| 9 |69.0| 97.0/101.0| 66.5| 10

NVAV-M638-14 | 48 | 1%'~2"|M63x1.5| 520 | 14 | 75.0 |102.0| 104.0| 65| 10

NVAV-M638-10 | 48 | 1%'~2"|M63x 1.5/ 520 | 10 | 75.0 | 98.0104.0| 66.5| 10

R B ET%?B%% 2z G D g ;r;)rr:)ax A B %:aé
90°1BEE M 5 NVWV-M120-10 | 10 | 5/6' | Mi2x15| 50| 10| 200| 37.5| 39.5| 50
NVW\V-M120-5 | 10| 5/6 |Mi2x15| 50| 5 |200|325| 39.5 50

NVWV-M160-10 | 10 | 516" | M16x1.5| 9.0| 10| 20.0| 37.5| 41.5 50

NVWV-M160-5 | 10 | 516" | M16x1.5| 9.0| 5| 200|325 41.5 50

NVWV-M162-10 | 12 | 3/8" | M16x1.5| 9.0| 10| 23.5| 42.0 46.5| 50

NVWV-M162-5 | 12 | 3/8' |M16x1.5| 9.0| 5| 235|37.0] 465 50

NVWV-M202-10 | 12 | 3/8' | M20x1.5|13.0| 10| 23.5| 42.0| 49.0| 50

NVWV-M202-6 | 12| 3/8r | M2ox15|130| 6] 235|380| 49.0] 50

8 NVWV-M207-10 | 17 | 1/22 | M2ox1.5|13.0| 10| 205| 47.0| 585 50

' NVWV-M207-6 | 17 | 1/2' | M20x1.5|13.0| 6| 29.5| 43.0] 585 50

SR ) - NVWV-M253-11 | 23 | 3/4' | M25x1.5|18.0| 11 | 37.0| 59.0| 67.0] 30

= - NVWV-M253-7 | 23| 34 [ m25x1.5]180| 7] 37.0|55.0] 67.0] 30
SImE NVWV-M329-13 | 29 | 1+ [ MB2x1.5|245| 13| 44.0| e8.0] 74.5 20
. NVWV-M329-8 | 29| 1* | Ma2x15|245| 8| 440|630| 745 20

; NVWV-M406-13 | 36 | 11" | M40x1.5|30.0| 13| 535|805 98.0] 20
NVWV-M406-8 | 36 | 14" | M40x1.5|300| 8] 535|755| 98.0] 20

NVWV-M508-14 | 48 | 114'~2' | M50x1.5 | 39.5| 14 | 66.0| 95.5]111.0] 10

NVWV-M508-9 | 48 | 1v4~2' | M50x1.5 |39.5| 9 | 66.0| 90.5/111.0] 10

NVWV-M638-14 | 48 | 114~2' | M63x1.5 | 50.0| 14 | 66.0| 94.5]114.0] 10

NVWV-M638-10 | 48 | 114~2' | Me3x1.5 | 50.0| 10 | 66.0] 90.5]114.0] 10

24 SEPCHAER - TR UHESH18E



PMA

WNF R

3 : 5 (mm) %

RII=E ] EEIR IS NW m 7 iR g ¢AD ¢ID L | =

M BVID-M12mGT | 07 14" | Mi2x15| 80| 200 - | 320 100
= (IPee6) BVID-M160GT | 10 516" | M16x15| 80| 215| - |335| 50

2o BVID-M162GT | 12 a/8" | M16x15| 80 | 235| - | 365]| 50

= o BVID-M207GT | 17 1/2" | M20x15| 80 | 30.0| - | 445]| 50
BVID-M253GT | 23 34" | M25x15| 80 | 370| - | 485]| 30

BVID-M329GT | 29 1 M32x15]| 100 | 440 | - | 515]| 20

BVID-M406GT | 36 1y | M40x15]| 100 | 535 | - | 655| 20

BVID-M508GT | 48 | 1v%2~2' | M50%x1.5| 100 | 66.0 | - | 655 10

BVID-MB38GT | 48 | 1v2~2' | M63x15| 100 | 720 | - | 665 10

BFIL-PO7m 07 T/4" PGO7 80| 175| - | 290] 100

PG #F (pe7) BFIL-P0O70 10 5/16" PGO7 80| 200| - | 345| 50
BFIL-PO90 10 516" PGO9 80| 205| - |325]| 50

BFIL-P112 12 38" PG11 80| 280| - | 325]| 50

BFIL-P117 17 1/2" PG 1 80| 280| - |350]| 50

BFIL-P132 12 a3/8" PG135 | 80| 280| - |325]| 50

BFIL-P137 17 172" PG135 | 80| 295| - |335]| 50

BFIL-P160 10 516" PG16 70| 260| - |370]| s0

BFIL-P167 17 1/2" PG16 80 | 35| - |335]| 50

B BFIL-P217 17 172" PG21 | 105 | 350| - | 355]| 50

) BFIL-P213 23 3/4" PG21 80| 35| - |390]| a0

- BFIL-P293 23 3/4" PG29 00| 440 | - | 420]| 20
BFIL-P299 29 1 PG29 90| 450 | - | 430]| 20

. BFIL-P363 23 3/ PG36 | 120 | 540| - |51.0] ao
=k = BFIL-P369 29 1 PG36 | 160 | 570| - |520]| 20
BFIL-P366 36 1y PG36 | 130 | 540| - | 640]| 20

BFIL-P488 48 | 11»—2' | PG48 | 130 | 670| - | 650]| 10

TFIL-FO8m 07 1/4" | M8x10 | 65| 180| 7.0 295 100

Sensorflpsn TFIL-F12m 07 1/4" | M12x1.0| 60| 17.0| 11.0 | 56.0 | 100
TFIL-F18m 07 1/4" | M18x1.0| 60 | 235 | 170 | 565 | 100

TFIL-F30m 07 1/4" | M30x1.5| 60 | 360 | 285 | 56.5 | 100

TFIL-F120 10 516" | M12x1.0| 60| 200 11.0| 570 50

TFIL-F180 10 516" | M18x1.0| 60 | 235 | 170 | 570 | 50

TFIL-F300 10 516" | M30x15| 60 | 36.0| 285 | 57.0| 50

P68 . (mm) B

amgs | W] RE IR dmaxd sw L | =@

NVIR-M120 10 | 516' |Mi2x15| 7.5]205]100] 19 |350| 50

NVIR-M160 10 | 516" |M16x15| 9.0|230|11.0] 21 |405| 50

NVIR-M162 12 | 38" |M16x15| 90|240|135| 22 |42.0| 50

NVIR-M207 17 /2" | M20%1.5|10.0|30.0]18.0| 27 |50.0| 50

NVIR-M253 23 | 3/4' |M25x15|100]|37.0|23.0| 34 |56.0] 30

NVIR-M329 29 1" | MB32x1.5|11.0|45.0]300| 41 |555| 20

NVIR-M406 36 | 1Y |M40x15|13.0|550|380] 50 |71.0] 20

NVIR-M508 48 | 1+—2" |MB0X15|15.0|66.0|480| 60 |75.0] 10

NVIR-M638 48 | 14—2' |M63x1.5|17.5| 750|505] 70 |760| 10

NVIZR-PO7m 07 T/ar PGO7 | 60|205] 85| 19 |33.0] 100

NVIZR-P0O90 10 | 516 PGO9 | 9.0|230|115] 21 |375] 50

N NVIZR-P110 10 | 516 PG11 | 90|27.0/115] 25 |395] 50

9 NVIZR-P112 12 | 3m PG11 | 90|265|135| 24 |415] 50
NVIZR-P137 17 1/2" PG135| 80|31.0|17.0] 28 |465| 50

. NVIZR-P167 17 1/2" PG16 | 95|300|180| 27 |495| 50
g NVIZR-P213 23 | a4 PG21 |10.0]39.0|250] 36 |565| 30
e NVIZR-P299 29 1 PG29 |12.5|46.0|31.0| 42 |565| 20
NVIZR-P366 36 | 1w PG36 |13.0]60.0|390| 55 |73.0| 20

NVIZR-P488 48 | 1/»—2' | PG48 |14.0|76.0|505] 70 |75.0] 10

25




WA

PMA

=528 . g [nw SR m oy | (Z/TE)) s
BVIDA-U15mGT 5/8'-24 07 | 11 | 14 8 |21.5|31.5| 100

AMP/CPC BVIDA-U150GT 5/8"-24 10 | 11 | 546" | 8 |21.5(83.5| 50
BVIDA-U152GT 5/8"-24 12 | 11 | g/ 8215|865 50

BVIDA-U180GT 3/4'-20 10 | 13 | 5/16" | 8 |27.0/835| 50

BVIDA-U182GT 3/4'-20 12 | 13 | g8 8270|865 50

BVIDA-U187GT 3/4"-20 17 | 18 | 172 8 |27.0|445| 50

BVIDA-U232GT 1%46"-20 12 | 17 | 3/8 8320|385 50

BVIDA-U233GT 1%6'-20 | 28 | 17 | 3/4" 8|355|485| 30

BVIDA-U237GT 1%46"-20 17 | 17 | 172 8 (320|465 50

: BVIDA-U323GT 1%6'-18 | 23 - 3/4" | 11 |44.0(52.0 30

}- BVIDA-U347GT 196"-18 17 | 28 | 1/2 8| 440|465 50
) - =1 BVIDA-UB43GT 196"-18 23 | 23 | 3 8 |44.0|485| 30
BVIDA-U402GT 194'-18 12 | spec. | 8/8' 7480|655 50

BVIDA-U407GT 196"-18 17 | spec. | 1/2' 7480|615 50

BVIDA-U403GT 194'-18 23 | spec. | 3/4' 7480|605 30

T T BVIDB-U162GT 1146"-24 12 | 12-8 | 3/8" | 4.0 [24.0(43.5| 50
UTG-6/ . BVIDB-U202GT 1%46"-20 12 | 14-12| 3/8" | 45 [26.5(44.0| 50
Cannon Trident| /o 50007 1%46"-20 12 | 16-19| 3/8" | 45 | 31.0| 49.0| 50
BVIDB-U237GT 1946'-20 17 | 16-19| 1/2' | 45 | 81.0| 52.0| 50

e BVIDB-U267GT 1146'-18 17 | 18-23| 1/2' | 45 | 35.0( 52.0| 50
BVIDB-U297GT 1%46"-18 17 |20-28| 1/2' | 65 |388.0(55.5| 50

BVIDB-U293GT 1%6'-18 | 23 | 20-28| 3/4' | 65 |38.0( 520 30

BVIDB-U323GT 1%6'-18 | 23 | 22-35| 3/4" | 6.5 | 40.0{52.0| 30

BVIDB-U357GT 17/46'-18 17 |24-48| 1/2' | 65 | 44.0(585| 50

BVIDB-U353GT 1746'-18 | 23 | 24-48| 3/4' | 6.5 | 44.0(54.0| 30

BVIDB-U359GT 1746'-18 | 29 | 24-48| 1" | 6.5 |44.0|505| 20

BVIDG-U212GT | 7/8"-20 UNEF | 12 | 16 | 3/8" | 9 |29.0|385| 50

UNEF MIL BVIDG-U217GT | 7/8-20 UNEF | 17 | 16 | 1/2' | 9 |30.5|465| 50
C5015 BVIDG-U242GT | 1"-20UNEF | 12 | 18 | 3/8" | 9 |320(405| 50
BVIDG-U247GT | 1"-20UNEF | 17 | 18 | 1/2' | 9 |320(47.5| 50

BVIDG-U297GT |1%46'-18 UNEF| 17 [20.22| 1/2' | 9 |385.0|47.5| 50

BVIDG-U293GT |1%¢"-18 UNEF| 23 |20.22| 3/4' | 9 |38.0(550| 30

BVIDG-U357GT |1746'-18 UNEF| 17 [24.28| 1/2' | 9 |44.0|465| 50

BVIDG-U353GT |1716'-18 UNEF| 23 |24.28| 3/4" | 9 |44.0(520| 30

BVIDG-U359GT |1746'-18 UNEF| 29 |24.28| 1 9 [44.0(52.0| 20

BVIDG-U433GT | 1%4-18UNS | 23 | 32 | 3/4' | 10 |53.0( 520 830

BVIDG-U439GT | 1%4"-18 UNS | 29 | 32 1 | 10 |53.0|51.5| 20

BVIDG-U436GT | 1%4-18UNS | 36 | 32 | 1w | 10 |53.0(625| 20

BVIDG-US09GT | 2-18UNS | 29 | 36 1 | 10 | 58.0|55.0| 20

BVIDG-U506GT | 2-18UNS | 36 | 86 | 1w | 10 |58.0|625| 20

BVIDG-U569GT | 2'-16UN | 29 | 40 1 | 10 | 64.0|51.0| 20

BVIDG-U566GT | 2/'-16UN | 36 | 40 | 1% | 10 | 64.0(620| 20

20




PMA

JUMBO #38

EIE%?}%% NWIRN Ao 8w & (mmF) G L M ?ﬁ%
BGG-56 56 = 82| 97| 42| 60.0| 66.0 - - | 4XMe6| 10
BGG-70 70| 22" 97| 114| 48| 60.0| 80.0| 100| - |B6XM6| 10
BGG-95 95| 3V2"|126| 146| 53| 74.0|/108.0| 131| - |B6XM6| 10
BGG-125 | 125 ) - | 194 | 79| 88.5|153.5| 177| - |6XM6| 5
BGO-56 56 - 82| 97| 101| 60.0| 66.0] - |122]4XM6| 10
BGO-70 70 | 2v2"| 97| 114| 115]| 60.0| 80.0| 50.0|142| 5XM6| 10
BGO-95 95 | 312" 126| 146| 149| 74.0|108.0| 65.5{175| 5XM6| 10
ETE%?J%% NW | 2= 19 A B H E (mm|): G L M %Zﬁ
BGGV-56 | 56 - 82| 97| 42 | 60 | 66 - - [4XM6 | 10
BGGV-70 | 70 215" 97| 114| 48 | 60 | 80 | 100| - |6XM6| 10
BGGV-95 | 95 32" | 126 | 146| 53 | 74 | 108 | 131 - |6XM6 | 10
BGOV-56 | 56 - 82| 97|101| 60 | 66 - 122 4XM6 | 10
BGOV-70 | 70 215" 97| 1141115 60 | 80 |50.0| 142 |5XM6 | 10
BGOV-95 | 95 31" | 126 | 146 | 149 | 74 | 108 |65.5| 175 [5XM6 | 10

27




(mm) (253

=T REE BB T o [y ey
5] BB SRIS NW | &= Y A B C H E M BE{i]

BFH-07-0 07 1/4" 17.0| 20.0| 21.5| 13.5| 40.5/1XM4| 100

@ BFH-10-0 10 516" | 20.5| 20.0| 24.5| 156.5| 47.5|1XM5| 100

| BFH-12-0 12 3/8" 24.0| 20.0| 27.0| 16.5| 54.5|1XM5| 100
BFH-17-0 17 1/2" 30.0| 20.0| 34.0| 20.0| 68.0| 1XM6| 100

BFH-23-0 23 3/4" 38.5| 20.0| 42.0| 24.0| 85.0/ 1 XM6| 100

BFH-29-0 29 1" 455 | 20.0| 48.0| 27.0| 99.0| 1 XM6| 100

BFH-36-0 | 36 1va' 55.5| 20.0| 56.0| 31.0|119.0| 1 XM6| 50

BFH-48-0 48 | 12'~2"| 67.5| 20.0| 68.0| 37.0|143.0| 1 XM6| 50

STHESRE NW | 0 R 5 ‘mm)o ’ Sjﬁ
BGPS-12/01 12 3/8" 70.0 30.0 45.0 51.0 30
BGPS-17 17 1/2" 70.0 30.0 45.0 51.0 30
BGPS-23 23 3/4" 70.0 30.0 45.0 51.0 30
BGPS-29 29 1" 85.0 30.0 60.0 65.0 20
BGPS-36 36 11/," 85.0 30.0 60.0 65.0 10
BGPS-48 48 114"~ 2" 115.0 30.0 90.0 92.5 10
BGPS-56 56 = 115.0 30.0 90.0 92.5 10
ame® | Nw | omo |, ™™ -
BGH-23 23 3/4" 58.0| 16.0 31.5| 46.0 | 2XM5b 50
BGH-29 29 1" 70.0| 19.0 37.5| 55.0 2XM6 50
BGH-36 36 14" 80.0] 24.0 46.0| 65.0 | 2XM6 50

BGH-48 48 112'~2" | 94.0| 24.0 | 58.5| 78.0 | 2XM6 | 50

BGH-56 56 - 118.0| 26.0 | 72.0| 98.0 | 2XM8 | 10

BGH-70 70 22" 130.0| 30.0 | 85.0/110.0| 2XM8 | 10

BGH-95 95 32" 156.0| 30.0 | 112.5]136.0| 2XM8 | 10

28




IP66 NW (mm) a5
BRI A B C| L N H I o F K E M |BfI
BVYD-100707GT | 10 | 07 | 07 | 63.0| 32.0/21.0(15.0|11.0[21.0(|16.0[24.0|2xM4| 20
BVYD-121010GT | 12 | 10| 10 | 69.0| 39.0/ 24.0[(19.0| 12.0|24.0|18.0[27.0|2xM4| 20
BVYD-171212GT| 17 | 12| 12| 80.0| 46.0{ 30.0(22.0|15.0(32.0|22.0(34.0 | 2xM5| 20
BVYD-231717GT| 23 | 17| 17 | 98.0] 60.0[38.0[30.0[19.0[42.0[29.0[38.0[2xM6| 20
BVYD-292323GT | 29 | 23| 23 [109.0| 74.0| 45.0|37.0|23.0[48.0(33.0{37.0|2xM86| 10
BVYD-362929GT | 36 | 29| 29 [130.0| 87.0[54.0[43.0[27.0(58.0[36.0(50.0[2xM6| 5
BVYD-483636GT | 48 | 36| 36 [144.0{104.0/ 68.0]50.0[34.0]/70.0 [ 48.0[50.0 [ 2xM6| 5

_1P66 NW (mm) B
] BB SRIS A B C E F H K L N ) M i

BVTD-101010GT | 10 | 10| 10| 19.0 | 21.0 | 39.5| 16.0| 59.0| 21.0 | 10.5 | 2XM4| 50
BVTD-121212GT | 12 | 12| 12| 225 | 265 | 47.5| 185| 71.5/ 24.0 | 12.0| 2XM4| 50
BVTD-171717GT | 17 | 17| 17| 29.5| 34.0 | 61.5| 22.0| 93.5| 30.0 | 156.0 | 2XM5| 50
BVTD-232323GT | 23 | 23| 23| 30.5| 41.5| 70.0| 28.0(106.5| 37.5| 19.0 | 2XM5| 20
BFTD-292323GT | 29 | 23| 23 | 32.0 | 48.0 | 73.0| 22.0(108.0| 44.0 | 22.0 | 2XM5| 20
BVTD-292929GT | 29 | 29| 29 | 31.5| 48.0 | 77.5| 325|111.0| 445 | 225 | 2XM5| 20
BVTD-363636GT | 36 | 36| 36 | 44.0 | 57.0 | 99.0| 40.0[150.5| 564.5 | 27.5 | 2XM6 5
BVTD-484848GT | 48 | 48| 48 | 43.0 | 71.0 ([111.5| 47.5(163.0| 66.5 | 33.5 | 2XM6 5

(YFZER T E25R55 8 IP68 AR 1% )

kv oA [ ~ IP40 NW (mm) i
nﬂﬁﬁﬁ YH?EHE HE- LA F G H A B © D E BE(i]
;-r‘—ﬁn-l_ c € BLYO-100707 10 07 07 54.6 37.1 10.0 10.0 10.0 10
- _| BLYO-121010 12 10 10 54.9 39.8 10.0 10.0 10.0 10
5 BLYO-171212 17 12 12 63.6 47.5 12.0 10.0 10.0 10
BLYO-231717 23 17 17 76.5 60.0 13.0 11.0 11.0 10
BLYO-292917 29 29 17 100.6 76.0 13.0 13.0 13.0 10
kvi oA o ~ IP40 NW (mm) i
ZIFEIN T A2 #Z5E SR c D E A B &7
| A | ( € BLTO-070707 07 07 07 45.2 31.1 10
BLTO-101010 10 10 10 45.2 31.1 10
BLTO-121212 12 12 12 49.1 34.8 10
o BLTO-171717 17 17 17 56.5 41.0 10
3 BLTO-232323 23 23 23 64.5 48.6 10
BLTO-292929 29 29 29 72.0 55.3 10
o g IP68 - (mm) #D |BE
o NW v oo e
90 B‘EEE”‘E 5 BB RS = I Sk g A B max|EfI

—

NSBV-M207-10 | 17 1/2" | M20X15| 10 | 625 | 74.5| 29.5
NSBV-M253-11 | 23 3/4" | M25X15| 11 | 73.0| 87.5| 37.0
NSBV-M329-13 | 29 1" M32X1.5| 13 | 86.5| 98.0( 44.0
NSBV-M409-13 | 29 1" M40Xx15| 13 | 86.5| 98.0| 44.0
NSBV-M406-13 | 36 1" | M40X15| 13 | 985 | 127.5| 53.5
NSBV-M508-14 | 48 | 1'~2"| M50X1.5| 14 | 113.,5 | 139.0| 66.0
NSBV-M638-14 | 48 | 1'~2"| M63X1.5| 14 | 110.0 | 139.0| 66.0

G TG I NG Q) Y

P68 . mm

smepis | VW BRI IR, (H )¢>ID e
NSNV-M120-10 | 10 | 5/16' | Mi2x1.5] 10]505]250] 7.0]20.0
NSNV-M162-10 | 12 | 3/8' | M16x1.5] 10 |53.5|25.0[10.0]235
NSNV-M207-10 | 17 | 1/2' | M20x1.5] 10 | 625/ 26.0| 15.0] 29.5
NSNV-M253-11 | 23 | 3/4" | M25x1.5]| 11|67.5|27.5|20.5|37.0
NSNV-M329-13 | 29 1" | M32x15| 13|72.0]31.0| 27.5| 44.0
NSNV-M409-13 | 29 1" | M40Xx15| 13 |72.0|31.0| 29.5] 44.0
NSNV-M406-13 | 36 | 1% | M40x15] 13 |855|325350|535
NSNV-M508-14 | 48 | 115'—2'| M50X1.5| 14 | 87.5| 340 44.0| 66.0
NSNV-M638-14 | 48 | 115'—2'| M63x1.5| 14 | 84.0{ 30.5|50.0 66.0

29 (53BPG ~ NPTHIRER)

Hle)

G [N (V) PG ) (DR DRI (G (Y Lo
EF Wi

H



YRS sl

DA = i mm (2553
B ETA SRS ags | wmms | OO o | e
- M12M16M M12x15 | M16x1.5 | 16.0 | 50 | 7.0 18 8 | 100

o Y M16M20M M16Xx15 | M20x1.5 | 165 | 50 | 75| 22 12 | 100

g | [T 18 [ v2om2sm M20x165 | M25x15 | 185 | 60 | 80| 27 | 15 | 50

= =1 2% [ mM2smz2Mm M25x1.5 M32x1.5 | 20.5 7.0 90| 34 21 25
% M32M40M M32Xx15 | M40x1.5 | 235 | 80 | 100 | 42 26 25

ol M40M50M M40Xx15 | MBOX1.5 | 30.0 | 80 | 180 | 52 34 10
FEE M50MB3M M50x15 | M63x1.5 | 325 | 9.0 | 160 | 65 44 10

0709M PGO7 PGO9 150 | 50| 70| - 17 | 100

0911M PG09 PG11 165 | 60| 70| - 20 | 100

0913M PG09 PG135 | 175 | 60| 75| - 22 | 100

1113M PG11 PG135 | 175 | 60| 80| - 22 | 100

1116M PG11 PG16 190 | 65| 85| - 24 | 100

% 1121M PG11 PG21 210 | 65 | 100]| - 30 | 100

1316M PG13.5 PG16 190 | 65| 75| - 24 | 100

2 | "m_ﬁ[é 1321M PG13.5 PG21 210 | 65| 85| - 30 | 100

£ §i*§ 1621M PG16 PG21 21.0 | 65 8.5 = 30 | 100
-U_&. 1620M PG16 PG29 225 | 65| 11.0| - 39 50

2129M PG21 PG29 230 | 70| 115]| - 39 50

e 2936M PG29 PG36 275 | 80 | 120 - 50 25

L 4248M PG42 PG48 33.0 | 100 | 17.0 ] - 64 10

s mm (253

TSRS A L L (e o0 | B

M16M12M M16%1.5 Mi2x15 8.5 6.0 20.0 100

M20M12M M20%1.5 M12x1.5 9.0 6.5 24.0 100

M20M16M M20X%1.5 M16%1.5 9.0 6.5 24.0 100

M25M16M M25%1.5 M16%1.5 10.0 7.0 30.0 100

M25M20M M25x%1.5 M20x1.5 10.0 7.0 30.0 100

M32M20M M32%1.5 M20x1.5 11.5 8.0 39.0 50

M32M25M M32%1.5 M25% 1.5 11.5 8.0 39.0 50

M40M25M M40 X 1.5 M25% 1.5 12.5 9.0 50.0 50

M40M32M M40 X 1.5 M32x1.5 12.5 9.0 50.0 50

M50M32M M50%1.5 M32x1.5 14.0 10.0 57.0 25

M50M40M M50% 1.5 M40x 15 14.0 10.0 57.0 25

L MB3M40M M63%1.5 M40x 1.5 14.0 10.0 70.0 10

MB3M50M M63%1.5 M50%1.5 14.0 10.0 70.0 10

0907M PG09 PGO7 8.5 6.0 17.0 100

1107M PG11 PGO7 8.5 6.0 20.0 100

1109M PG11 PGO9 8.5 6.0 20.0 100

1307M PG13.5 PGO7 9.0 6.5 22.0 100

1309M PG13.5 PGO9 9.0 6.5 22.0 100

1311M PG13.5 PG11 9.0 6.5 22.0 100

1607M PG16 PGO7 9.5 6.5 24.0 100

1609M PG16 PGO9 9.5 6.5 24.0 100

1611M PG16 PG11 9.5 6.5 24.0 100

1613M PG16 PG13.5 9.5 6.5 24.0 100

g_ 2111M PG21 PG11 10.0 7.0 30.0 100

2113M PG21 PG13.5 10.0 7.0 30.0 100

g 5 2116M PG21 PG16 10.0 7.0 30.0 100
ol §i§ gg 2916M PG29 PG16 11.5 8.0 39.0 50
BT - & 2921M PG29 PG21 11.5 8.0 39.0 50
& P 3621M PG36 PG21 12,5 9.0 50.0 25
j l 3629M PG36 PG29 12.5 9.0 50.0 25
4229M PG42 PG29 14.0 10.0 57.0 10

L 4236M PG42 PG36 14.0 10.0 57.0 10

4836M PG48 PG36 14.0 10.0 64.0 10

4842M PG48 PG42 14.0 10.0 64.0 10

E =t/ = IP66 NW =il mm (253
ﬁaz"éﬁﬁi%ﬂaiﬁﬁﬂﬁ SIIE RIS A B A =0 B PA (¢ID) L E5(1]
BAVD-12/10GT 12 10 3/8" 5/16" 1565 | 20.0 | 46.0 50

BAVD-17/10GT 17 10 1/2" 5/16" 21.0 | 200 | 53.0 50

BAVD-17/12GT 17 12 1/2" 3/8" 21.0 | 235 | 54.0 50

BAVD-23/10GT 23 10 3/4" 5/16" 285 | 200 | 54.0 30

BAVD-23/12GT 23 12 3/4" 3/8" 285 | 235 | 53.0 30

BAVD-23/17GT 23 17 3/4" 1/2" 285 | 295 | 62.0 30

BAVD-29/10GT 29 10 1 516" 345 | 200 | 565 30

BAVD-29/12GT 29 12 1 3/8" 345 | 235 | 55.0 30

BAVD-29/17GT 29 17 iE 1/2" 345 | 205 | 61.0 30

BAVD-29/23GT 29 23 1" 3/4" 340 | 37.0 | 64.0 30

BAVD-36/29GT 36 29 114" 1" 430 | 440 | 81.0 20

BAVD-48/36GT 48 36 | 1v~2" 174 55.0 | 535 | 885 10

30




PMA

H {4554 258

WMEMSF g]l,s;?g;ﬁ% Nw| R FR] I_(mrz)Dmax. T Eifi
BVNR-REM162 | 12 | 3/8" |M16|16.0| 54 |235|26.0| 50

- BVNR-REM187 | 17 | 1/2' |M18|18.5| 65 |30.0|265] 50

1 BVNR-REM207 | 17 | 1/2' |M20|20.0| 65 |29.5|28.0| 50
= o1| BVNR-REM253 | 23 | 3/4' |M25|26.0| 71 |37.0/30.0] 30
;L——-*T — E{; BVNR-REM329 | 29 1 |[M32]320]| 71 [44.0]305] 20
=!| BVNR-REM406 | 36 | 14" |M40|40.0| 90 |535]36.0| 20
BVNR-REM508 | 48 | 114'~2' | M50|50.0] 90 [66.0]35.0] 10

TS Nwo | =D L ™o | 28

BVSGD-1212GT| 12 3/8" 66.0 | 235 | 50

BVSGD-1717GT| 17 1/2" 87.0 | 295 | 50

BVSGD-2323GT| 23 3/4" 103.0 | 387.0 | 30

BVSGD-2929GT| 29 L 100.0 | 44.0 | 20

BVSGD-3636GT| 36 14 130.0 | 53.5 | 10

BVSGD-4848GT| 48 11'~2" | 133.0 | 66.0 | 10

gmwE | ow | omwm | W o |BE

BCT-10 10 | 516" | 46 | 130 | 28.0| 10

BCT-12 12 3/8" 5-9 | 16.0 | 35.0| 10

BCT-17 17 1/2" | 7-14| 21.0 | 42.0| 10

BCT-23 23 3/4" |14-22| 28.0 | 51.0| 10

BCT-29 29 & 16-22| 34.0 | 53.0| 10

BCT-36 36 114" | 16-29| 42.0 | 55.0| 10

e | R | W g 4D T W o |u6

BLNO-M160 | M16x1.5| 10 [13.0{20.5|37.5|20.0{ 17.0| 50

BLNO-M162 | M16x1.5| 12 [13.0|21.5|39.5| 23.0{ 20.0| 50

BLNO-M202 | M20x1.5| 12 [13.0|26.0(39.5|23.0{20.0| 50

BLNO-M207 | M20x1.5| 17 [13.0|27.0(435|28.5(25.0| 50

BLNO-M257 | M25x1.5| 17 [14.0|31.0(445|285(25.0| 50

BLNO-M253 | M25x1.5| 23 [14.0|35.0(525| 36.5(33.0| 30

BLNO-M323 | M32x1.5| 23 [17.0|40.0(56.0| 36.5(33.0| 30

BLNO-M329 | M32x1.5| 29 [17.0|42.0|61.0| 43.0{ 40.0| 20

BLNO-M409 | M40x 15| 29 |21.0]49.0|65.0| 43.0{ 40.0| 20

BLNO-M406 | M40x 15| 36 |22.0|53.0|74.5|54.0{50.0| 20

BLNO-M508 | M50x1.5| 48 [22.0|65.0(805|66.0{62.0| 10

SIS | T BRI s

BLN-M16 | M16X1.5| BLNO-M160 BLNO-M162| 8.0 | 19.0 | 50

BLN-M20 | M20X 1.5 BLNO-M202 BLNO-M207| 8.0 | 27.0 | 50

BLN-M25 | M25% 1.5| BLNO-M257 BLNO-M253| 9.0 | 32.0 | 10

BLN-M32 | M32x1.5| BLNO-M323 BLNO-M329| 12.0 | 40.0 | 10

BLN-M40 | M40X 1.5 BLNO-M409 BLNO-M406| 15.0 | 48.0 | 10

BLN-M50 | M50% 1.5| BLNO-M508 15.0 | 64.0 | 10
31 TLRYESLE 188




PMA

HitfECHF

gmms | Nw | ozmw | o @0 g?ﬁ
RKS-07 07 1/4" 45 | 125 16 | 100
RKS-10 10 5/16" 8.0 | 155 16 | 100
RKS-12 12 3/8" 10.0 | 19.0 20 | 100
RKS-17 17 1/2" 13.0 | 240 21 100
RKS-23 23 3/4" 20.0 | 32.0 22 50
RKS-29 29 e 25.0 | 38.0 22 30
RKS-36 36 14" 33.0 | 46.0 25 20
RKS-48 48 | 1'~2" | 45.0 | 58.0 25 10
RKS-56 56 - 54.0 | 71.0 28 10

=

ST |nw A AA B BA(mHm) L G 5 ¢ SE
SRER-06 (X)| 06| 6.5/13.0[ - | - |13.0/21.0[33.0/13.0| 6.0 50
SRER-16 (X)| 16 [16.0/24.0| - | - |15.0/25.0[39.0/15.0| 7.0| 50
SRER-21 (X)| 21|22.0/32.0] - | - |20.0/29.0[43.0/15.0| 7.0| 50
SRER-29 (Z)| 29(30.0/40.0] - | - |18.0/29.0[43.0/39.0| 7.0| 50
SRER-50 (2)| 50 |50.0{61.0] - | - [18.0[29.0/43.0{50.0| 7.0| 20
SREV-40 (Y)| 40 |47.0/58.0/34.0|44.0{20.0| 24.0| 44.0|38.0/10.0| 20

+

R Fi8 L
SVN4-M12 M12x1.5 | 20.0 | 12.0 400 | 50
SVN4-M16 M16x1.5 | 22.0 | 16.0 300 | 50
SVN4-M20 M20x1.5 | 27.0 | 20.0 350 | 50
SVN4-M25 M25x1.5 | 350 | 25.0 500 | 30
SVN4-M25/01 | M25%x1.5 | 31.0 | 25.0 3.00 | 30
SVN4-M32 M32x1.5 | 43.0 | 32.0 550 | 20
SVN4-M40 M40x1.5 | 55.0 | 40.0 750 | 20
SVN4-M40/01 | M40X15 | 51.0 | 40.0 550 | 20
SVN4-M50 M50%1.5 | 69.0 | 50.0 950 | 10
SVN4-M50/01 | M50X1.5 | 59.0 | 50.0 450 | 10
SVN4-M63 M63x1.5 | 75.0 | 63.0 600 | 10
SVN4-07 PGO7 16.5 | 12.5 200 | 50
SVN4-09 PGO9 200 | 15.2 240 | 50
SVN4-11 PG11 240 | 18.6 270 | 50
SVN4-13 PG13.5 31.0 | 204 530 | 50
SVN4-16 PG16 31.0 | 225 425 | 50
SVN4-21 PG21 37.0 | 283 435 | 30
SVN4-29 PG29 48.0 | 37.0 550 | 20
SVN4-36 PG36 57.0 | 47.0 500 | 20
SVN4-42 PG42 65.0 | 54.0 550 | 10
SVN4-48 PG48 69.0 | 59.3 485 | 10
SVN4-GOO | G 1/4" 200 | 13.2 340 | 50
x Q - PS4 SVN4-GO1 G 3/8" 220 | 16.7 265 | 50
S et ] SVN4-G02 G 1/2" 280 | 21.0 350 | 50
SVN4-GO4 | G 3/4" 34.0 | 265 375 | 30
SVN4-GO6 | G 1" 420 | 333 435 | 20
SVN4-GO7 | G 1w 53.0 | 41.9 555 | 20
SVN4-GO8 | G 1% 620 | 47.8 710 | 10
SVN4-GO9 | G 2" 69.0 | 59.6 470 | 10

32, SEO g B « MEER



PMA

HACH

o 5] BB SRS £ ETERIS e %=
PKEE | 000 ] o | o |28] PEB ] = | o |2
NVN3-01 | 01 - 14.0| 50 NFN3-07 | 07 1/4" 9.0/ 100
IP68 IP67 NVN3-02 | 02 - 14.0| 50 NFN3-09 | 10 5/16" 9.0/ 50
L Ho NVN3-07 | 07 1/4" 9.0(100 NFN3-11 | 12 3/8" 9.0/ 50
NVN3-09| 10 5/16" 9.0 50 || NFN3-16 |17 1/2" 9.0/ 50
NVN3-11| 12 3/8" 12.0| 50 || NFN3-21 | 23 3/4" 9.0/ 30
NVN3-16| 17 1/2" 16.5| 50 || NFN3-29 | 29 1" 9.0/ 20
= NVN3-21 | 23 3/4" 13.0| 30 NFN3-36 | 36 14" 11.0| 20
NVN3-29 | 29 1" 14.0| 20 NFN3-48 | 48 | 172"~2"|11.0| 10
NVN3-36 | 36 114" 17.5| 20
NVN3-48| 48 | 11-"~2"[17.5| 10
A
WPS IP6OKEB | wmsis | nw | =w | ™ o | 2F
4D :-‘-’-i WPS-NW12 12 3/8" 26.0 8.0 50
WPS-NW17 17 1/2" 33.0 8.0 50
WPS-NW23 23 3/4" 40.0 9.0 30
WPS-NW29 29 1" 47.0 9.5 20
WPS-NW36 36 114" 59.0 10.0 20
WPS-NW48 48 114"~2" 71.0 10.0 10
Ht
SIS 338 EE
BMN-M12 M12X1.5 17 19.0 5.0 100
BMN-M16 M16X1.5 22 24.0 5.0 100
BMN-M20 M20X1.5 27 29.0 5.6 100
BMN-M25 M25X1.5 32 35.0 6.0 100
BMN-M32 M32X1.5 41 46.0 7.0 25
BMN-M40 M40 X 1.5 50 55.0 7.0 10
BMN-M50 MB0X1.5 60 66.0 8.0 10
BMN-M63 MB3X1.5 75 83.0 8.0 5
BMN-07 PGO7 19 21.0 5.0 100
BMN-09 PGO09 22 24.0 5.0 100
BMN-11 PG11 24 26.0 5.0 100
BMN-13 PG13.5 27 29.0 6.0 100
BMN-16 PG16 30 33.0 6.0 100
BMN-21 PG21 36 39.0 7.0 50
BMN-29 PG29 46 50.0 7.0 25
BMN-36 PG36 60 66.0 8.0 10
BMN-48 PG48 70 78.0 8.0 10
HEx
S EIRIG BRI Fi8 , G e
GMM-M12 M12X1.5 15 17.0 2.8 100
. GMM-M16 M16X1.5 19 21.0 2.8 100
GMM-M20 M20X1.5 24 27.0 3.0 100
f GMM-M25 M25X1.5 30 33.0 3.5 100
GMM-M32 M32X1.5 36 39.0 4.0 25
GMM-M40 M40 X1.5 46 51.0 4.5 10
! GMM-M50 MB0X1.5 60 66.0 5.0 5
GMM-M6B63 MB63X1.5 70 76.0 585 5
GMM-07 PGO7 15 17.0 2.8 100
GMM-09 PGO09 18 20.0 2.8 100
i GMM-11 PG11 21 23.0 3.0 100
i GMM-13 PG13.5 23 26.0 3.0 100
GMM-16 PG16 26 29.0 3.0 50
GMM-21 PG21 32 35.0 8.5 50
GMM-29 PG29 41 45.0 4.0 25
3 GMM-36 PG36 51 56.0 5.0 10
GMM-42 PG42 60 66.0 5.0 5
GMM-48 PG48 64 70.0 5.5 5

33




H At AR ZE iy

:ﬂ'

") hotset
@ Kellerlhne Tesch

e

~
-
-

el i

==l Hotset

* BHAENE

* BIENENE

* OJEHNENE

EEl Keller lhne & Tesch

* DB
 SBPEET L RS I
* BETRIE
«NERBEE

« B

&

&)

=B ELSTEIN
*EATNMGII B R ENEE
ERERGE  « T

&EEEE

+ BEEIR R
* R
m MURR =Bl Murrelektronik
* B8 CEFRE NI HRES * EEAVERRIRIESS
mhAw ELEKTRONIK * BRSEBTH « TH 4 0METAM
* EMCHIRER * PLETSIRHESS
* CEFREEHEE 2315
H =B Leuze electronic
& Leuze electronic oo « (BRI
* FEEERNEI2S * BRI
+ ZEPHEER * ERHEE /1=HRA

{=[El Posital FRABA

POSITAL * BRI
—_— * BER RIS
FRABA * AR RISEE
+ 1B
@B Murrplastik

[murrP|astik m
a8
)

* HENERORES

* MEFHABESNEHSOES
* M ETNEIFIR

* ACSEBILIETR R

a tyco -HTs

intercontec

products

BBl tyco-HTS
* AR BIMERER

=Bl Intercontec
* Bz ERERR

‘ GIMOTA ~

K1 GIMOTA
* Ef S

* FHI 22 es
* SRR

* KEMERERR
* SRR

#AGRO

I AGRO

* B EEEER
* PIIKE R

=B binder

* 1)\ BUEIRZ @RS
* Sensor @ iEa%
* E)J)58 %S

=& Concab Kabel

* RRISE /ARG EE £

* REMAEE Noa ¥
+ TR @&
* BUS &8

34



PMA

") hotset

Ll binder "
ConCab 7\
’ GIMOTA \ ééEAGRO

@ Keller lhne Tesch POSITAL IMIMURR

FRABA mAAm ELEKTRONIK

rurpesti | | tyco -Hs

& Leuze electronic intercontec
roducts

-
“

N
r
» »




	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  10
	頁面  11
	頁面  12
	頁面  13
	頁面  14
	頁面  15
	頁面  16
	頁面  17
	頁面  18
	頁面  19
	頁面  20
	頁面  21
	頁面  22
	頁面  23
	頁面  24
	頁面  25
	頁面  26
	頁面  27
	頁面  28
	頁面  29
	頁面  30
	頁面  31
	頁面  32
	頁面  33
	頁面  34
	頁面  35
	頁面  36

